At \\A=PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC~10.dwg

AREA D AREA C CITY'S BULK FUEL STORAGE Q/\gﬂoo S - NG
2 4 > S - — ~ :E‘u § U}g
* SHEET E5—DEMOLITION SHEET E4—DEMOLITION % Dgé 25, 2
S\, SHEET E9—NEW CONSTRUCTION SHEET E8—NEW CONSTRUCTION o e €% jg 28 &
; v — AR & 235
5 ‘ 21 [~ / 5o >0 N
| 2 / / 0L < T £<
! S 4 / ’ o2 ELSG 88
\/ / 5 7 f n ggg Q_ ~§*A
~ ° s ZSE6 =T 85
N o i TR R
£
5068 4"4 ’7 = 505 1o W“7\;‘ 8% *’
. \If( / %l / % 5
e )
7 .
N — *; \ ; 52 / h
) - v O .
| ) TN T T sy = g -
\ » } 5L g, / » % ‘\e?‘% ~ o o ’//
| aﬁ: I Ny / / u‘ejﬁe‘?‘ R — / L / / /
L = P k4 T A // /
a0 scHooL |, e o y
J 2&% Q;'_\/? Eguflsa / \D & \ - // b
- 58 ~ZJ / <
\ B8 L4
(] ; N =
”)}?/ \J@% ] s soss S ;g“s’,é’w
O\x38R
el < Okva 7~ — ~N & Psal
1Al | o ( ) N/ I (Yo s
G o - = / / 2 s%ge
j / O Y NEW POWER CLINIC - Y e _ 3 / . / / / / E ;g;’@
& PLANT ST / / / W <9z¥
@’ RS \[L / _ 17/ / Z o0F*~
- - 19=3=28 (%, N b 2 o= / Y O 3=
] WATER ! _ = - iy &
_ TREATMENT = U y— »
AN 4 A PN T LR AN e = . a
\ / 3 P Py 7/
™~ =z o L5 3 ‘:’?k X = E —— va »
\ 1% —— = - . EP % ~— 7 5 / (=]
| | |, EXIST (3) SOKVA 2400 DELTA/ | | <
| |1 J7.200/12,470 wrE oG y 0 / e Z
TN > . '/ O [C
Lo £ j f / == Y a o
— L 2 || / / ! 7 2 3z
| L ) ) 1w .o 3 5
% s ; & 1)/ 1] poit™ DN = =
3=1A 3 - X N N A o © e 4 < B2
T — A = 2., A GRAPHIC SCALE 3 o ¢
KA G e i L MPE ) i VNS A 1 B A . o) Uil <Y /7 e 0 0 120 240 360 n =
. S y) IR o O ¥ o &
i i1 s NG S < &
! e gl A 4 . s SCALE IN FEET if = z
—— o0 S 8 x
T — 7 Y { =
/T/ i VAN /4 2 3
Y OLD POWER PLANT - % o % N / INETYP ND: < 3
| L . 3 13-CorRp q VRS —~ o
| ~/ SHEET E2-DEMOLITION Py ‘ iy, Y /LN O ™ 7% New SERVICE, #2 TRIPLEX, U.N.O. &
| \ SHEET E6—NEW CONSTRUCTION ¢ Q "
: S X /@/@ \N\ & ™ T\, NEW SECONDARY, 1/0 TRIPLEX, U.N.O.
g
<
(1) ELECTRICAL KEY PLAN, OVERLAY OF EXISTING AND NEW | = T = NS < 747 7 % —— NEW OVERHEAD 1-PHASE
\E1/ scae: erapric | Gt )/ ca8= N§ Y2 - 0 PRIMARY, #2 ACSR CONDUCTOR o
' \ J S TS N v/ g - ——— w —— NEW OVERHEAD 3-PHASE wlTlT
GENERAL NOTES: l /\/ oy 3 9y é WO PRIMARY, #2 ACSR CONDUCTOR 5|Ql®
1. ALL CONSTRUCTION SHALL COMPLY WITH THE REQUIREMENTS OF THE MOST RECENT EDITION OF THE | \\/ﬂ‘( Y S~ < ¢ e = —— EXISTING OVERHEAD CONDUCTOR &
NATIONAL ELECTRIC SAFETY CODE (NESC) AND RURAL UTILITY SERVICE (RUS). WHERE STANDARDS VARY, = cgg”\‘f/ K FO REMAIN IN SERVICE =
THE MOST STRINGENT SHALL APPLY. HOWEVER, IT IS OUTSIDE THE SCOPE OF THIS PROJECT TO CORRECT AREA B ~_ T\e—sy o~ % e e S EXISTING OVERHEAD CONDUCTOR @
EXISTING CODE VIOLATIONS RELATED TO CONSUMER OWNED FACILITIES, INCLUDING HEIGHT OF CONSUMERS’ oN ~= <) Va, - 3 g TO BE RETIRED PER NOTE 10
WEATHERHEAD AND CONDITION OF SERVICE ENTRANCE EQUIPMENT. SHEET E3—DEMOLITI ( Vi A T — OR MODIFIED PER NOTE 3
2. LOCATIONS SHOWN ON THESE DRAWINGS ARE COMPILED FROM LIMITED SURVEY DATA COLLECTED FOR THE SHEET E7—NEW CONSTRUCTION S e131g — s y /
PROJECT, DCED MAPPING, PHOTOS AND COMMUNITY INPUT, AND DOES NOT REPRESENT AN ASBUILT SURVEY. . »
3. REQUEST LOCATES PRIOR TO DIGGING, ADJACENT UTILITIES SHOWN ON DRAWINGS SHOULD BE FIELD VERIFIED. Z|z
UNDERGROUND FACILITIES WERE NOT SURVEYED AND LOCATIONS SHOWN MAY NOT REPRESENT ACTUAL FACILITIES. CARE SHALL BE TAKEN NOT TO DAMAGE CONSTRUCTION COORDINATION NOTES: o|e
EXISTING ENERGIZED UNDERGROUND CIRCUIT WHERE NEW UNDERGROUND CIRCUIT RUNS PARALLEL. 1. THE AUTHORITY HAS PROVIDED AN OVERHEAD TRANSFORMER BANK OF THREE (3) 50 kVA TRANSFORMERS — 1818
4. EQUIPMENT LOCATIONS MAY BE SLIGHTLY FIELD ADJUSTED, WHEN STAKED. WITHIN R—0—W, COORDINATE LOCATIONS WITH ADJACENT UTILITIES, ESPECIALLY 2,400V DELTA/ 7,200/12,470V WYE STEP—DOWN/STEP—UP TRANSFORMERS, MOUNTED ON POLE 2. 5|2z
FUEL LINE ALONG DOOPS STREET AND KILBUK STREET. 2. THE AUTHORITY WILL PROVIDE 5 DUAL VOLTAGE TRANSFORMERS: 120/240/2,400V DELTA AND 210l
5. EXISTING DISTRIBUTION SYSTEM IS: 2400V DELTA. 120/240/7,200/12,470V WYE SERVICE TRANSFORMERS. %|38|8
6. ALL MATERIAL PROVIDED SHALL BE ON THE RUS APPROVED MATERIALS LIST. 3. UTILIZE AND RELOCATE AS NECESSARY: THE BANK OF THREE (3) 50 kVA TRANSFORMERS o|o
7. ASSEMBLY UNITS SHOWN ARE FOR EMPHASIS OF MAJOR ASSEMBLY UNITS ONLY. SEE STAKING SHEETS FOR REQUIRED ASSEMBLY UNITS. WHERE ASSEMBLY STEP—DOWN,/STEP—UP TRANSFORMERS AND THE DUAL VOLTAGE TRANSFORMERS TO SECTIONALIZE PORTIONS OF oo
UNITS ARE NOT DETAILED IN THIS DRAWING SET, REFERENCE REA STANDARD DETAILS, REA BULLETIN 50-3, STD D 804, 1983 EDITION. THE CITY, MAINTAINING SERVICE TO THE CONSUMERS, AND MINIMIZING THE QUANTITY AND DURATION OF OUTAGES. 8 8
8. POLES SHALL BE SET AT DEPTH OF 10% OF POLE HEIGHT PLUS 3" MINIMUM (7'-6" MINIMUM FOR 45" POLE). 4. COORDINATE WORK ON DEMOLITION DRAWING WITH WORK ON NEW DISTRIBUTION DRAWINGS. alo
9. TYPICAL NEW POLE 45/4, UNLESS OTHERWISE NOTED. 5. WHERE POLES ARE RETIRED AND NEW POLES ARE INSTALLED IN CLOSE VICINITY TO THE RETIRED POLE, MANY S|y
10. CLEARING WILL BE REQUIRED IN AREAS THROUGH—OUT PROJECT. PROVIDE CLEARING WHERE REQUIRED FOR CONSTRUCTION OF THE PROJECT AND FOR SERVICES AND SECONDARY CONDUCTORS ARE SHOWN ON THE DEMOLITION DRAWING IN THE "DEMOLITION” 212
THE NEW CIRCUIT'S CONTINUING PROPER OPERATION. LINETYPE WITH NOTES TO MODIFY EXISTING SERVICE OR SECONDARY TO REUTILIZE EXISTING CONDUCTOR. THESE S
11. PROVIDE ARMOR ROD ON PRIMARY AND NEUTRAL ON EVERY ASSEMBLY ATTACHMENT EXCEPT AT DEADENDS. ARE ALSO THEN SHOWN ON THE NEW DISTRIBUTION DRAWINGS IN THE "NEW" LINETYPE WITH NOTES TO MODIFY Slol~
12. NEW OVERHEAD PRIMARY CABLE IS: #2 ACSR SPARATE. LENGTHS SHOWN ARE APPROXIMATE——POLE LOCATIONS WERE NOT SURVEYED. EXISTING SERVICE OR SECONDARY TO REUTILIZE EXISTING CONDUCTOR.
13. PRIMARY SHALL NOT CROSS NEUTRAL IN ANY SPAN; INSTALL NEUTRAL ON ROAD SIDE OF POLES. 6. RETIRED COMPONENTS SHALL BE DISPOSED OF BY CONTRACTOR IN A RESPONSIBLE MANNER. ol o
14. PROVIDE 3" SQUARE CURVED WASHER ON BOTH SIDES OF ALL EYEBOLTS. 7. THE AUTHORITY—PROVIDED DUAL VOLTAGE TRANSFORMERS AND STEP—DOWN/STEP—UP TRANSFORMER BANK S 3| 4
15. COORDINATE SCHEDULED DEMOLITION (SHOWN ON SHEETS E2 TO E5) SHALL BE RETURNED TO AEA ANCHORAGE WAREHOUSE AT COMPLETION OF PROJECT. < =
WITH NEW DISTRIBUTION (SHOWN ON SHEETS E6 TO E9). 8. SEE SHEET E2 FOR GENERAL DEMOLITION NOTES. 3 §
16. PROVIDE POLE NUMBERS FOR ALL POLES, UTILIZING NEW NUMBERING SHOWN. 9. SEE SHEET E6 FOR GENERAL CONSTRUCTION NOTES. L4 & 5 ¢
17. PROVIDE REFURBISHMENT WORK INDICATED FOR DISTRIBUTION SYSTEM, INCLUDING ALL REQUIRED ACESSORIES AND APPURTENANCES TO PROVIDE A sz 8 £ &
COMPLETE AND SERVICABLE INSTALLATION.
18. ALL NEW PAD—MOUNTED EQUIPMENT SHALL BE PROPERLY SECURED AND LOCKED. Sheet No. =
19. NEW UNDERGROUND SECONDARY AND SERVICE CONDUCTORS SHALL BE IN CONDUIT, WHICH CAN BE BACKFILLED USING NATIVE SOILS, PER TRENCH DETAIL.
20. BURIED TAP SPLICES SHALL NOT BE USED. ISSUED FOR CONSTRUCTION sieeT o




w1e: \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC—10.dwg

o &
SCHOOL ' 25 05
= '- £ 9k G
= 9Eo g s i
— ( S GEe W& g <
!; // _ SR
i | fi/i_ﬁ: rd goE(E%?
| ~Eldyg 2%
| O Znores. - 25505
J | | REMOVE AND | E— aE8<S: A,
[ - DISPOSE OF OL // - B 2ot e
— 5%
| ScHOOL XFMR. e 3§ .
*
I *
v
1
Tq
A 2
CLINIC / I C% -
[ | “t}/TNOTES 2.
y NOTES 2, 3.
[ \Y [ ’ LNOTE 11.
— WATER N . __Q_._ B )
TREATMENT  —- o  NC %o
PLANT e = — e 7R
4 AKIAK CIR ST~ YO o3
f—o—fNoTES 2, 10 “ 7 Z 585
POST I—' L | —=g = - g %Egi
OFFICE -—\\ | \‘S‘_ g st
L - ="
OTES 2. 3.’ B7A-2 N : w
NOTES 2. 3. I\ | =
| -NOTES 2, 3. W %
_NOTES 2. 10. [ -NOTES 2, 12. g T
o ') z
NOTES 2, 7, 8. | fNOTES 2, 3. g 2
< 2
<) I wn oo 2
n || 3 b S«
243 X . v 30
e e . A
NOTES 2, 10. _NOTES 2. 10. - ¥ = g
NOTES 2,6,7,8. e D NOTEs 4 10— & < 5 d
' \_/ NOTES 2, 10.74) | ~—NOTES 2, 5 8
N —NOTES 2, 4, 1. i : ¢
/ OTES 2, 0. _ [k [ 2 3
- o = -
j:.— - = NOTES 2, 4, 8 /
v — (LOWER FRAMING | I~
/) o ONLY). OLD POWER PLANT | y NOTES 2,| 3. ] 9_:"@
/é | L NOTES 2, 10. ) — HEIE
|
?Ed us [ NOTES 2, 7, 8. - / &f) +|a
ur.(\ [ | &
|| .
i P E 2
| e R I e Z|lz
I | I— = — o|C
' - 5|5
(1 ENLARGED ELECTRICAL DEMOLITION PLAN—AREA A SHEETNOTES: e ElE
£2 . . . 2lu|t
<. SEaL B DRAFIE GRAPHIC SCALE 2. SEE SHEET E6 FOR GENERAL CONSTRUCTION NOTES. COORDINATE SCHEDULED DEMOLITION ¢lz|z
A ¢ 0 60 120 180 WITH NEW DISTRIBUTION SHOWN ON SHEETS E6-EQ. o|3
eO\& o EXISTING POLE 3. MODIFY EXISTING SERVICE OR SECONDARY TO REUTILIZE EXISTING CONDUCTOR. bl
0. TO REMAIN 4. RETIRE FRAMING. oI
W DEMOLITION NOTES: SCALE IN FEET 5. RETIRE ABANDONED SERVICE I
o LAISTING POLE TO BE RETIRED PER 1. SEE SHEET E1 FOR GENERAL NOTES AND CONSTRUCTION COORDINATION NOTES. LS ;’gﬁgSFORMER(S)' ElE
NOTE 7 OR REMOVED FROM 2. COORDINATE SCHEDULED DEMOLITION SHOWN ON SHEETS E2—E5 WITH NEW DISTRIBUTION CONSTRUCTION. s FoirE GUY(é) a4
FLECTRICAL SERVICE PER NOTE 12 3. UNLESS NOTED OTHERWISE: EXISTING SERVICE DROPS TO REMAIN (BE RE—USED). . e v =i
4. WHERE EXISTING TRANSFORMERS, JUNCTION BOXES, OR PEDESTALS ARE TO BE RETIRED, NEW EQUIPMENT IS TO 9. MODIFY EXISTING GUY(S). A lid A
EXISTING OVERMEAD BE INSTALLED IN VICINITY OF EXISTING EQUIPMENT, AS REQUIRED, TO MINIMIZE OUTAGE TO CONSUMERS; AND 10. RETIRE CONDUCTOR.
-\ CONDUCTOR RE—INSTALLATIO OF EXISTING SECONDARIES AND SERVICES THAT ARE TO REMAIN. 1. [TEM TO REMAIN. o
TO REMAIN IN SERVICE 5. ALL RETIRED TRANSFORMERS ARE TO BE REMOVED FROM AKIAK AND SHALL BE DISPOSED OF PROPERLY. 12. POLE TO REMAIN. ALL ELECTRICAL APPURTENANCES ARE TO BE REMOVED/DEMOLISHED N
6. ALL RETIRED MATERIALS AND SHALL BE REMOVED FROM SITE AND PROPERLY DISPOSED OF; UNLESS FROM POLE. WHERE REQUIRED TO PROVIDE CLEARANCE TO EXISTING AND NEW FACILITIES, = =
B EXISTING OVERHEAD CONDUCTOR PERMISSION TO USE VILLAGE LANDFILL !S ACQUIRED, IN WRITING, FROM THE MILLAGE. POLE IS TO BE TOPPED TO PROVIDE REQUIRED CLEARANCE. IF POLE DOES NOT SUPPORT ~ 3 §
TO BE RETIRED PER NOTE 10 7. SOME DEMOLITION ITEMS ARE NOT SPECIFICALLY UNITIZED. DEMOLITION OF UN—UNITIZED ITEMS SHALL BE TELECOMMUNICATION FACILITIES AND IS NOT BEING MODIFIED FOR NEW CONSTRUCTION, J 5 5 @
OR MODIFIED PER NOTE 3 INCIDENTAL TO PROJECT AND ADDITIONAL PAYMENT FOR RETIREMENT AND REMOVAL SHALL NOT BE PROVIDED. UN-USED POLES [N GOOD CONDITION MAY BE RETIRED AND USED ELSEWHERE, WHERE USE OF 5 T o &
8. PHASING OF CONSTRUCTION AND DEMOLITION SHALL BE SCHEDULED TO MINIMIZE OUTAGES TO CONSUMERS. RETIRED POLES IS ALLOWED ON SHEETS EB—ES. Zo_c o =
13. RELOCATE POLE. e
ISSUED FOR CONSTRUCTION E2
SHEET. OF.




s \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC—10.dwg

NOTES 2.4-,12/" —
N~

D —

—

%

M&Mﬂ%ﬂﬂf{&*mw/\\
- v S — ‘:\.\

LNOTES 2, 10.\>{X/ /7 R\

Céjq“r:‘x\
~

Sl
ﬁ ’/I l\‘—NOTE 1 NOTES 2, 6, 12.
= =" N /
T —_— = -
5 3/‘ VT2 poopg’ STREET
BT IS
SL
gl
|
o |

Y\\S’“
EPQ\,EO EXISTING POLE
WO TO REMAIN

EXISTING POLE 7O BE RETIRED PER

|

|

T ;
|

i

|I MOTES 3.
|

1

|

l
|
J
I
|

© NOTE 7 OR REMOVED FROM
ELECTRICAL SERVICE PER NOTE 12

—\N—

EXISTING OVERHEAD CONDUCTOR

TO REMAIN IN SERVICE

e e e EXISTING OQVERHEAD CONDUCTOR
TO BE RETIRED PER NOTE 10
OR MODIFIED PER NOTE 3

SHEET NOTES:

SEE SHEET E1 FOR GENERAL NOTES.

. COORDINATE SCHEDULED DEMOLITION WITH NEW DISTRIBUTION SHOWN ON SHEETS E6-ES.
. MODIFY EXISTING SERVICE OR SECONDARY TO REUTILIZE EXISTING CONDUCTOR.

RETIRE FRAMING.

RETIRE ABANDONED SERVICE

RETIRE TRANSFORMER(S).

. RETIRE POLE.

. RETIRE GUY(S).

. MODIFY EXISTING GUY(S).

10. RETIRE CONDUCTOR.

11. ITEM TO REMAIN.

12. POLE TO REMAIN. ALL ELECTRICAL APPURTENANCES ARE TO BE REMOVED/DEMOLISHED
FROM POLE. WHERE REQUIRED TO PROVIDE CLEARANCE TO EXISTING AND NEW FACILITIES,
POLE IS TO BE TOPPED TO PROVIDE REQUIRED CLEARANCE. IF POLE DOES NOT SUPPORT
TELECOMMUNICATION FACILITIES AND IS NOT BEING MODIFIED FOR NEW CONSTRUCTION,
UN—USED POLES IN GOOD CONDITION MAY BE RETIRED AND USED ELSEWHERE, WHERE USE OF
RETIRED POLES IS ALLOWED ON SHEETS E6-ES.

13. RELOCATE POLE.

OONO R UN

| )

71\ ENLARGED ELECTRICAL DEMOLITION PLAN—AREA B

\E3 / scale: GRapHiC CHERIIE EEALE
0 60 120 180

ISSUED FOR CONSTRUCTION

SCALE IN FEET

State of Alaska
Department of Community
and Economic Development

AIDEA /AEA
Rural Energy Group
813 West Northem Lights Blvd

I= ALASKA
amm ENERGY AUTHORITY

*
AIEN

‘Anchorage, Alaska 99503
*  x

*
*

‘.&ll‘.....
uﬂ({x‘,ﬁ'
?“, *

EE—10279 oty

-
“"‘.

aveAMALL
-

-

‘
S,

B
"y

s,

3940 ARCTIC BLVD S0
ANCTHORACE, ALASKA

AKIAK, ALASKA

RURAL POWER SYSTEM UPGRADE

ENLARGED ELECTRICAL DISTRIBUTION PLAN
AREA B

DATE
4—20-12
2—-18-15

BY

-
>
(1}
T
Z|Z
(=] (=}
=
[S1NS]
gDD
a|ElE
EU‘JU’)
Z|Z
0|0
Ol
x|
(@] =]
|l
BD
i)
212
0nluv
0|
=]
ZOv—
2yl
[&) =
= b=
3 H
(= [ H
- =4 z =
g i 2 a
i o a <
Sheel No. E3
SHEET. QF.




sie: \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC—10.dwg

SEE SHEET ES5

>7NOTES 2, 7.

TES 2, 1N

S 2, 10

NOTES 2,12.

— .
= SN -
N -
CITY'S BULK FUEL STORAGE =
*ay CONSUMER OWNED
7 SERVICE POLES g

AND WIRING

v /0 /
:-‘H_‘%Ef@NOTES 2, 7, 7/./
"‘x._:_ 4 _‘// /
Y,
/ \/ e

U

s STREET 7

—F _!T._'Y'_’__'_\__T'l_z._ﬁf

pOME 0 EXISTING POLE

no-

~Ny-

(1 ENLARGED ELECTRICAL DEMOLITION PLAN—AREA C

SEE SHEET E3

NOTES 2,4,1

ZZ "'“H-—-,?
3
~— & 2

NOTES 2, 6, 12.

5068 s
B8

\V

OTES 2.6,12> \\

ey

—_—

3

BARGE LANDING

SHEET NOTES:
. SEE SHEET E1 FOR GENERAL NOTES.

&

TO REMAIN

EXISTING POLE TO BE RETIRED PER
O NOTE 7 OR REMOVED FROM
ELECTRICAL SERVICE PER NOTE 12

EXISTING OVERHEAD CONDUCTOR
TO REMAIN IN SERVICE

- — — 3% — — EXISTING OVERHEAD CONDUCTOR

7O BE RETIRED PER NOTE 10
CR MODIFIED PER NOTE 3

SCALE: GRAPHIC

GRAPHIC SCALE
0 60 120 180

MODIFY EXISTING SERVICE OR SECONDARY TO REUTILIZE EXISTING CONDUCTOR.
RETIRE FRAMING.

RETIRE ABANDONED SERVICE

RETIRE TRANSFORMER(S).

RETIRE POLE.

. RETIRE GUY(S).

. MODIFY EXISTING GUY(S).

10. RETIRE CONDUCTOR.

11. ITEM TO REMAIN.

12. POLE TO REMAIN, ALL ELECTRICAL APPURTENANCES ARE TO BE REMOVED/DEMOLISHED
FROM POLE. WHERE REQUIRED TO PROVIDE CLEARANCE TO EXISTING AND NEW FACILITIES,
POLE IS TO BE TOPPED TO PROVIDE REQUIRED CLEARANCE. IF POLE DOES NOT SUPPORT
TELECOMMUNICATION FACILITIES AND IS NOT BEING MODIFIED FOR NEW CONSTRUCTION,
UN—USED POLES IN GOOD CONDITION MAY BE RETIRED AND USED ELSEWHERE, WHERE USE
OF RETIRED POLES IS ALLOWED ON SHEETS E6—EQ.

13. POLE TO REMAIN. RETIRE ALL PRIMARY FACILITIES, AND CONVERT POLE PER
DISTRIBUTION PLANS.

14. RELOCATE POLE ISSUED FOR CONSTRUCTION

SCALE IN FEET

CANOOAUNS

AIDEA/AEA
IS L508858

Rural Energy Group
B13 West Northern Lights Blvd

*
2IEN

Anchorage, Alaska 99503
* *

and Economic Development
]

State of Alaskao
Department of Community

*ﬁ
*

.
%
*
*
]
-
-
]
-
-

3
9

o
od

-
3]

*"ﬂ.
ok

g iz
{ )
®. A% i ifF.
AN B af
NN B
N
l‘\“
§ Imgz
o~
= e
Vs i
a“ﬁﬁ
4 85
5 pusd
W SEu.
w €8sy
B Lass
g i
4
w

w z
a 4
< Qa
o
S 35
L E
> E
|
< = 2
n EE
3 @ °°
n 23
X zx
= § 5F
2 35
mLLJ
o 2
T &
E %
S
x =
()
ol
o o
a2
0]
< | N

BY

. COORDINATE SCHEDULED DEMOLITION WITH NEW DISTRIBUTION SHOWN ON SHEETS E6—E9.

REVISION

0 |ISSUED FOR _CONSTRUCTION
1 |ISSUED FOR CONSTRUCTION—REV 1

NO,

2/18/15
Designed. GME
MME

Plot
Dote
Approved

Drawn

Sheet No.

E4

SHEET. [0 —




e \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak~CRW\IFC\Akiak IFC—10.dwg

Y I =

\ <
i | | h/ >‘T:I !é
= — o U)g
= 2t 93 &
{5-N2-1 (OLD) || gE8 <338 2
Eg%%wé"ﬂ li
O gl k
“5°.§<?g.=§<_
cE Wy 2%
p—— S20v i A
i [ agg<si: K4,
| [ NOTES 2, 7. A
'\ — |,__.| ag -
] L@l B3A-3 X
LUG /| 22
[N ’f\:x l15-N2 {OLD) s
& NOTES 2, 6, 11, R i b ¥ ~
(= t

—NOTES 2, 11 g

FEAY

PHONE: (907) 3825,
FaX: (907

NOTES 2,
> 10, TYP.

3940 ARCTIC BLVD. SN,
ANCHORAGE, ALASKA

;

901,

B2 (g
— KRR __
MNOTES 2, 10.

— _ NOTES 2, 12

i gl 4

NOTE 12.

=z

j;,y
|
)/

AL

p"’é’ —
/
AKIAK, ALASKA

=

d
|
o

|

-NOTES\?.\‘t. 6 7.

RURAL POWER SYSTEM UPGRADE
ENLARGED ELECTRICAL DEMOLITION PLAN
AREA D

"—{}b
/g

FJ73
Sxaﬁ%

/
3% \N'—\——
GRAPHIC SCALE ‘*@
/ 1\ _ENLARGED ELECTRICAL DEMOLITION PLAN—AREA D 0 -l s 180 | | T NOTE \3
ES o otEs o
\E5/ scaLE: GRAPHIC ] I/ e NOTES 2. 7.\ o T
SCALE IN FEET ﬁg I | 2 :NﬁCTTEg 2 4 8 1 &(Q[=
SHEET NOTES: 1 o 5 i ;07 b \ Hd
1. SEE SHEET E1 FOR GENERAL NOTES. | = [ , i m/ 5
2. COORDINATE SCHEDULED DEMOLITION WITH NEW d 50 < SNOTE 12, |~
DISTRIBUTION SHOWN ON SHEETS E6—ES. i Bp 08 Bo 08 |
3. UNLESS NOTED OTHERWISE, MODIFY EXISTING SERVICE TO u\ orts (2 |
REUTILIZE EXISTING CONDUCTOR (MAY BE SWUNG TO NEW ‘J‘-d\""'*-—NOTES TYs 8 12 | | | B
POLE). S e (S e
4, RE)TIRE FRAMING. 'b‘,l T——NOTE 11. ;\".\L § é
5. RETIRE ABANDONED SERVICE. o ) NOTES 2, 10 515
6. RETIRE TRANSFORMER(S). V NOTES 2,12, — | 4 \ TYP. N | 13|22
7, 3
7. RETIRE POLE. |‘”l o : ; L\ — ]
8. RETIRE GUY(S). =i e "\ — | |E|z|z
enst- 9. MODIFY EXISTING GUY(S). I:Eli /\~ \ E/’—‘ //_' 3[3
< 10. RETIRE CONDUCTOR. [ gl NQTES/2, 6,12 ol
pOL- o EXISTING POLE 11. ITEM TO REMAIN. iy j s = o
NO- TO REMAIN 12. POLE TO REMAIN. ALL ELECTRICAL APPURTENANCES ARE L NOTE 11. /J ! \“\.%__ J ] b ala
TO BE REMOVED/DEMOLISHED FROM POLE. WHERE REQUIRED T / e
o EXISTING POLE TO BE RETIRED PER 10 pROVIDE CLEéRANCE TO EXISTING AND NEW FACILITEES, — % K 5 2|2
NOTE 7 OR REMOVED FROM POLE IS TO BE TOPPED TO PROVIDE REQUIRED CLEARANCE. 1 % > ’{ 0o
ELECTRICAL SERVICE PER NOTE 42 IF POLE DOES NOT SUPPORT TELECOMMUNICATION FACILITIES T~ ——] ! Slo[-
AND (S NOT BEING MODIFIED FOR NEW CONSTRUCTION, ~ P Y ==
UN—USED POLES IN GOOD CONDITION MAY BE RETIRED AND \ | I =
_ e EXISTING OVERHEAD CONDUCTOR USED ELSEWHERE, WHERE USE OF RETIRED POLES IS | [ET / s W N
TO REMAIN IN SERVICE ALLOWED ON SHEETS E6-ES9. \ L § # 6;? \ I B Z
13. PROVIDE ARMOR RODS AND WRAP—LOCK TIES. | O6g . | N 4
~ — — a — - EXISTING OVERHEAD CONDUCTOR 14. RE-TENSION PRIMARY l | log~ \lnows 2 U [ o5 s ¢
TO BE RETIRED PER NOTE 10 H b / 3, VP <, /o ( k\ 5z 8 % ¢
OR MODIFIED PER NOTE 3 il L o Al
SEE SHEET €3 ISSUED FOR CONSTRUCTION | ™ E5
SHEET. oF |




“te: \\A—~PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC—10.dwg

<
- POLE NOTES: - N
SHEET NOTES: LNOTES. 25 e
1. SEE SHEET E1 FOR GENERAL NOTES. %_l—ULPLw%;—OEé—lNNUT“R“EﬁgFgngE% BAD S
2. SEE SHEET E2 FOR GENERAL DEMOLITION NOTES. COORDINATE =4 : cES g8 J¢
SCHEDULED DEMOLITION SHOWN ON SHEETS E2—E5 WITH NEW 2. PROVIDE NEUTRAL ATTACHMENT. EXTEND NEUTRAL TO POLE 3. FET s 28 €
5" CONVERT LOWER FRAMING TO 3# DOUBLE DEADEND; PROVIDE SPAN GUY TO B
g'smfé]sloﬁ gggsggggﬁgé- EXISTING SERVICE DROPS TO REMAIN (BE POLE 3A WITH GUY STRAIN INSULATOR AT FOLE. =535 m
O sen 0 : OPS TO REMAIN ( 3A:. PROVIDE 40/4; GUY AND ANCHOR, 30'L. 500 <8 £2
~USED).. 3-1; PROVIDE 45/4; FRAME C2R; STREETLIGHT; SECONDARY GUY AND ANCHOR, 25'L. PR
INSTALL SECONDARY AT 9” BELOW NEUTRAL; INSTALL SECONDARY TO 3—1A, 4" LOWER; 5geSs gg*l
SPAN GUY TO POLE 3—18, ATTACHED AT PRIMARY HEIGHT. gy <5z B
3-1A: INSTALL SECONDARY AT 9" FROM POLE TOP; INSTALL AND RAISE SERVICES TO & T@ W
SAME HEIGHT; PROVIDE NEW SERVICE TO 2ND WEATHERHEAD; GUY AND ANCHOR, 20'. 35 *

3-1B: PROVIDE 40/4 SPAN GUY, GUY AND ANCHOR, 25'L. =

3—2: PROVIDE NEW 40/4; FRAME C7-1R; PROVIDE 15kVA XFMR; PROVIDE NEW

ANCHOR AND PRIMARY AND SECONDARY GUYS; PROVIDE SECONDARY RISER, EXTEND TO
SCHOOL WITHIN 9” OF BOTTOM OF TRANSFORMER; INSTALL SECONDARY AT 9" BELOW NEUTRAL.
3—2-S1. PROVIDE SECONDARY PEDESTAL; SOURCE EXISTING UG SERVICES FROM PED.
4: PROVIDE 45/4, SET 8.5' DEEP; FRAME C1AR; PROVIDE (3)10kVA 120/208 VOLT;
STREETLIGHT; RELOCATE QUADRAPLEX SECONDARY TO THIS POLE.
4A: PROVIDE NEW GUY TO EXISTING ANCHOR.
5. PROVIDE 45/4; FRAME C1AR; 15kVA XFMR; GUY AND ANCHOR, 25'L..
5A; CONSUMER OWNED SERVICE POLE; PROVIDE M2-11; INSTALL SECONDARY AT 9”

FROM POLE TOP; PROVIDE ADDITIONAL 10° TO WEATHERHEAD RISER; (2) STAND—OFF

i ) scHool
7/ XFMR o

—

| — T\
k (V‘r\—PLUG HOLES\\IN

| XFMR PAD.

BRACKETS #2 COPPER XHHW SERVICE ENTRANCE CONDUCTORS; RISER PIPE GROUNDING

CLAMP; GUY AND ANCHOR, 20'L.

5B: PROVIDE 40/4; INSTALL SECONDARIES AT 9” FROM POLE TOP; INSTALL SERVICES 4"

LOWER.

5BA: INSTALL SEC. AT 9” FROM POLE TOP; RAISE SVC. TO SAME HEIGHT; PROVIDE

STREET LIGHT, INSTALL AT 6" BELOW SEC./SVC.; RAISE SERVICE ATTACHMENT ON

WEATHERHEAD AT RED CONNEX; SHORTEN ITS DRIP LOOPS TO WITHIN 4" OF RAISED

ATTACHMENT.

5C: PROVIDE 40/4; GUY AND ANCHOR, 25'L.. DO NOT ENERGIZED UN-METERED SERVICE.
HEET E9 6: PROVIDE 45/4; FRAME C1AR; 15kVA XFMR; STREETLIGHT; SECONDARY GUY AND

. ANCHOR, 25'L. INSTALL SECONDARY NORTH 9" BELOW NEUTRAL; INSTALL SECONDARY

SOUTH 4" LOWER.

§ : (e
AL WA

3
8
2
w
£
5
2
g
@
o
2
5
g
<
°
g
3
3

R

(907) 561-2273

2
oo
Do
oM
|
<
%0
]
=~
R
"5
"o
ge
Eu
z
28
5%
zao
Z

FAX:

-0
ENGINEERING Gl

[

CLINIC

6A: RELOCATE POLE IN—LINE WITH POLES 6 AND 6B; INSTALL SECS. AND SVC. AT 9”

/ FROM POLE TOP;
— 6AA: INSTALL SECONDARY AT 9” FROM POLE TOP; RAISE SERVICE TO SAME HEIGHT.
\ 6B: INSTALL SECONDARY AT 9” FROM POLE TOP; RAISE EXISTING AND RELOCATED

—<®%¥J SERVICES TO SAME HEIGHT; PROVIDE GUY AND ANCHOR, 18'L.
6C: INSTALL SECONDARY AT 9” FROM POLE TOP; PROVIDE GUY AND ANCHOR, 25' L.
—  6D: PROVIDE 40/5 OR LARGER (RE—USE A RETIRED POLE). INSTALL SECONDARY AND

AKIAK CJF  SERVICE AT 9” FROM POLE TOP. SEE CLEARING NOTE ON EI.
| ; \df// 7: PROVIDE 45/4; FRAME C1AR; 10kVA XFMR; SEC. BISECTOR GUY AND ANCHOR, 20'L.

gy 3

|

|

|

\

i
/
(
|
\

¥

7A: INSTALL SEC. AT 9” FROM POLE TOP; RAISE SVC. TO 4" LOWER; PROVIDE GUY AND
| ANCHOR, 20'L.
| 8: PROVIDE 45/4; FRAME C1AR; PROVIDE STREETLIGHT; GUY AND ANCHOR, 20° L.

.| B"/’A—‘ SG‘\
/T Sia I

L:/#z TRIPLEX l\ \
i |

POST ’
OFFICE

AKIAK, ALASKA
RURAL POWER SYSTEM UPGRADE

ENLARGED ELECTRICAL DISTRIBUTION PLAN
AREA A

CEXIST (3) 50kVA 2400 DELTA/E]]UB

DATE
4—-20-12
2-18-15

SEE SHEET E7
BY

|
|
|
|
i
L/)

OLD POWER PLANT

REVISION

Al |L-NOTE 2, 3

ISSUED FOR CONSTRUCTION—REV 1

X0 STREET LIGHT ° A ® New SERVICE, #2 TRIPLEX, U.N.O.

0 [ISSUED FOR CONSTRUCTION

NO.

1

e ™ » NEW SECONDARY, 1/0 TRIPLEX, U.N.O.

D=
=0 NEW POLE
g % ——— NEW OVERHEAD 1-PHASE

0

0. —
I\\g PRIMARY, #2 ACSR CONDUCTOR
%O\f, o EXISTING POLE —  «—— NEW OVERHEAD 3—PHASE

NO- TO REMAIN PRIMARY, #2 ACSR CONDUCTOR
*NOTE: SOME POLES DECOMMISSIONED FROM EXISTING OVERHEAD CONDUCTOR

GME

2/18/15
MME

Plot
Date
Designed
Drawn
Approved.

GRAPHIC SCALE

—

/ 1\ ENLARGED ELECTRICAL DISTRIBUTION PLAN—AREA A 0 60 120 180 ELECTRICAL, FOR TELECOMMUNICATIONS USE TO REMAIN IN SERVICE oot No.

EG

OF.

E6 / SCALE: GRAPHIC ONLY, ARE NOT SHOWN ON PLAN FOR
U SCALE IN FEET CLARITY. SEE SHEETS E2—E5 FOR LOCATIONS. ISSUED FOR CONSTRUCTION

SHEET.




s \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC—10.dwg

P N

POLE NOTES:

9; PROVIDE 45/4, FRAME C1AR, C10 (ALLEY ARM); 10kVA XFMR; STREETLIGHT.

9-1E; PROVIDE 45/4, C7-2A; PROVIDE (2) GUYS AND (2) ANCHORS, 30' & 35' LEADS.

9—1; PROVIDE 45/4, SET 8.5 DEEP. FRAME C1AR; 10kVA XFMR; INSTALL SEC. TO SOUTH AT

REDUCED TENSION.

9—1A: PROVIDE 40/4, 20' SOUTH OF ROW; GUY AND ANCHOR, 15'L. PROVIDE GUARD POST 5'
TALL (OLD POLE), AT ANCHOR ON WEST SIDE, 5' SOUTH OF ROW.
9—1B; INSTALL SECONDARY AT 9" FROM POLE TOP; RAISE SERVICES TO 4" LOWER.

9—1C: INSTALL SEC. AT 9" FROM POLE TOP; RAISE EXISTING SVC, AND INSTALL NEW, AT SAME

HEIGHT; PROVIDE NEW SERVICE TO 2ND WEATHERHEAD; PROVIDE GUY AND ANCHOR, 20'L.
9—2: PROVIDE 45/4, FRAME C1AR, A7—1; GUY ANCHOR 30'L.

9—2-1: PROVIDE 45/4, FRAME A7-1. 15kVA XFMR, (2) 2" SEC. RISERS; STREETLIGHT; PRIMARY

GUY WITH ANCHOR PLATE 3' FROM EXISTING POLE AND 25'L.; SECONDARY GUY AND ANCHOR 20'L.
9—2-1A: PROVIDE 40/5 OR LARGER (RE—USE A RETIRED POLE); INSTALL SEC. AND SVCS. AT 9"
FROM POLE TOP; GUY AND ANCHOR 13'L.; PROVIDE INTERMEDIATE MAST FOR SERVICE OVER ROOF.

S1: PROVIDE PEDESTAL AND NEW SERVICES TO ADJACENT BUILDINGS.

S2: PROVIDE PEDESTAL AND NEW SERVICES TO ADJACENT BUILDINGS.

9—3: PROVIDE 45/4, FRAME C1AR; 10kVA XFMR; STREETLIGHT.

9—3A: INSTALL SECONDARY AT 9" FROM POLE TOP; RAISE SERVICE TO SAME HEIGHT; PROVIDE
GUY AND ANCHOR 15'L. (INSTALL ANCHOR NEAR BISECTOR BUT OPPOSING SECONDARY MORE).
9-3B: PROVIDE 40/5 OR LARGER (RE—USE A RETIRED POLE); INSTALL SEC. AND SVC AT 9"

FROM POLE TOP.

9-4; PROVIDE 45/4, SET 8.5' DEEP. FRAME C1AR, 10kVA XFMR, STREETLIGHT.
9—4A: INSTALL SECONDARY AT 9" FROM POLE TOP; RAISE SERVICE TO SAME HEIGHT.

9-5: PROVIDE 45/4, FRAME C7—1R, A5-2, 10kVA XFMR, STREETLIGHT; (3) GUYS AND ANCHORS,

| P S\~

35, 30", 30L. v I
e}

SEE SHEET E8
Sy Y, SHEET NOTES:
L #2 TRIPLEX =/ 1. SEE SHEET E1 FOR GENERAL NOTES.
- X 2. COORDINATE SCHEDULED DEMOLITION SHOWN ON SHEETS
£2-E5 WITH NEW DISTRIBUTION CONSTRUCTION.
3. UNLESS NOTED OTHERWISE: EXISTING SERVICE DROPS TO

REMAIN (BE RE—~USED).

-] \\ (0. \’! / .

. 'X/// \ \ jj__ B}
/ ANle

J(

o)

A

X,
19-3-2WB TN,

KPS IRE

o

S06g
Bs

NTIN R
19-3—1W: PROVIDE 45/4, FRAME A3—1; 10kVA XFMR; BISECTOR

SEE SHEET E6

POLE NOTES, CONTINUED: |

9—5A: INSTALL SECS AT 9" POLE TOP; RAISE SVC. TO SAME HEIGHT.

TREET 162

9-5B: PROVIDE 40/4; INSTALL SECONDARIES AT 9”, 11", & 15" FROM POLE TOP PROVIDE
BISECTOR GUY AND ANCHOR, 25’L. FOR 1/0 TRIPLEXES.

9—5BA: (NSTALL SECONDARY AT 9" FROM POLE TOP; RAISE SERVICE TO SAME HEIGHT.
9-5C: PROVIDE 40/4; INSTALL SEC. AT 9" FROM POLE TOP; INSTALL SERVICES 4" LOWER.

PROVIDE GUY AND ANCHOR, 25'L.

9-6: PROVIDE 45/4, FRAME A2, (2) GUYS AND ANCHORS, 25'L.

9~7; PROVIDE 45/4, FRAME A1A, 15kVA XFMR.; (2) 2" SECONDARY RISERS;
S1: PROVIDE PEDESTAL AND NEW SERVICES TO ADJACENT BUILDINGS.

S2: PROVIDE PEDESTAL AND NEW SERVICES TO ADJACENT BUILDINGS.

9—8: PROVIDE 45/4, FRAME A1A. OPEN SECONDARY TO NORTH.

9-9: PROVIDE 45/4, FRAME A5, 10kVA XFMR.

9—9A; PROVIDE 40/4, E2—3 (PRIMARY); INSTALL SPAN GUY AND ITS DOWN GUY AT 9" FROM

POLE TOP; INSTALL BACKSPAN SECONDARY AND ITS GUY 7" LOWER; INSTALL TAP SEC. AND ITS

GUY 68" LOWER; (3) GUYS AND (2) ANCHORS, (2) 18'L. IN-LINE, (1) 16'L.

GUY AND ANCHOR, 25'L.

19-3—1WA: INSTALL SEC. AND RAISE SVC. TO 8" FROM POLE TOP.
19-3-2W. PROVIDE 45/4, FRAME AS; 10kVA; GUY AND ANCHOR
30°L.

19-3-2WA: PROVIDE 40/4; GUY AND ANCHOR 20'L.; INSTALL SEC.
AT 9" FROM TOP; INSTALL SVCS. 4" LOWER.

_19-3-2WB: PROVIDE 40/4; GUY AND ANCHOR 20'L.; INSTALL SEC.
AND SVC. AT 9" FROM TOP.

19—4; PROVIDE 45/4, FRAME A1A; 15kVA XFMR; PROVIDE
STREETLIGHT; SECONDARY BISECTOR GUY AND ANCHOR, 25'L.

19-4A: PROVIDE 40/4; GUY AND ANCHOR 20’L; INSTALL SEC. AND
SVC. AT 9" FROM TOP.

19—4B: PROVIDE 40/4; GUY AND ANCHOR 25'L.; INSTALL SEC. AT 9"
‘FROM TOP; INSTALL SVCS 4" LOWER.

19-5: PROVIDE 45/4, SET POLE B.5' DEEP. FRAME A7-1; 10kVA
/" XFMR; STREETLIGHT; GUY & ANCHOR, 30'L.

¢ 19=5A: INSTALL SEC. AT 9” FROM TOP; RAISE SVC TO 4" BELOW
SEC. DO NOT CONNECT UN—METERED SVC. TO SEC.; PROVIDE GUY &
< ANCHOR, 25'L.

<19—58: PROVIDE 40/5 (RE—USE A RETIRED POLE); GUY AND ANCHOR
- 15'L.; INSTALL SEC. AND SVCS. AT 9” FROM TOP,

X¢—o STREET LIGHT

W
$eo NEW POLE

RIFY METER

EXISTS PRIOR N0
TO PROVIDING 51\51.
SERVICE. B pO\E 0 EXISTING POLE
A WO-  TO REMAIN
= . Y- *NOTE: SOME POLES DECOMMISSIONED
~ LY FROM ELECTRICAL, FOR

N ~ - TELECOMMUNICATIONS USE ONLY, ARE
T B W 4 NOT SHOWN ON PLAN FOR CLARITY. SEE
S ~_ SHEETS E2—-E5 FOR LOCATIONS.

8
8570\
o6
J;\

% —® NEw SERVICE, #2 TRIPLEX, U.N.O.
o« ™ 7\, NEW SECONDARY, 1/0 TRIPLEX, U.N.O.

zaf}’l»\

b f — % — NEW OVERHEAD 1—PHASE
9-98: INSTALL SEC. AT 9" BELOW POLE TOP; INSTALL SVC. 4" LOWER. PROVIDE GUY AND
pchoR. el / T PRIMARY, #2 ACSR CONDUCTOR
10;: PROVIDE 45/4;/FRAME CIAR, e #2 TRIPLEX" X \/ /) // — w—— NEW OVERHEAD 3—PHASE
19-3; PROVIDE 45/4, FRAME A5, A2; 10kVA XFMR; STREETLIGHT; GUY AND ANCHOR, 30'L. # P
INSTALL SECONDARY TO SOUTHWEST AT REDUCED TENSION. LN A <~ PRIMARY, #2 ACSR CONDUCTOR
19-3A: INSTALL SEC. TO POLE 9—3 AT REDUCED TENSION AND AT 9" FROM POLE TOP; RAISE = ot _/./ - e EXISTING OVERHEAD CONDUCTOR
NGTALL ANOHOR .5 WeST AND 55 NORTH OF EXISTING TELE, ANGHOR, 1 ron 20 o e e T e N o GRErHICH Seae TO REMAIN N SERVICE

. . . . — 60

19-3B; INSTALL SEC. AND RAISE SVC. AT 9" FROM POLE TOP; INSTALL STREETLIGHT 6" LOWER. @ ENLARGED ELECTRICAL DISTRIBUTION PLAN—AREA B (E;#O
19-3C: PROVIDE 40/4; INSTALL SEC. AND SVC. AT 9" FROM POLE TOP. PROVIDE GUY AND \E&7/ scaLe: GrapHIC ISSUED FOR CONSTRUCTION

ANCHOR 25'L.

SCALE IN FEET

State of Alaska |
Department of Community
and Economic Development

AIDEA /AEA
Rural Energy Group
B13 West Northern Lights Blvd,

ALASKA

- N Y AUTHO

=

*
BN

*

Anchorage, Alaska 99503

*

rC RW

a

857=-30%;

FAX: (S07) 561-322.

ANCHORAGE, ALASKA 99503
PHONE: (907)

3940 ARCTIC BLVD SUITE

ENGINEERING GROUPR LLC

AKIAK, ALASKA

RURAL POWER SYSTEM UPGRADE

ENLARGED ELECTRICAL DISTRIBUTION PLAN
AREA B

DATE
4-20-12
2-18-15

BY

>
w
T
Z|Z
Q|0
ol
OlO
z |22
oo
ul=l=
s|nln
dlzlz
xl19|O
Olo
ol
(o] ¥e]
Wil
BQ
w
o} |
unln
0njn
glo|-
'3
— g ‘3)
@l ©
= =
~N| B 2
5. o
2 £ F 5
o5 8 2 a
oo = o -
Sheat No. E7
SHEET. oF |




sie: \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC—10.dwg

v
3’ OFF ;
ROW EDGE <
J
213 \ % | 170"

£ —— -
T T DUMMOCKS  STREE

e A— e s Tk

o _#2 TRIPLEX
' ©

SEE SHEET ES

ROW
EDGE. B8 (

/ 1\ _ENLARGED ELECTRICAL DISTRIBUTION PLAN—AREA C o

\EB / scALE: GRAPHIC

X0
@ © NEW POLE
&

STREET LIGHT

POLE 0 EXISTING POLE
WO TO REMAIN

*NOTE: POLES DECOMMISSIONED FROM
ELECTRICAL, FOR TELECOMMUNICATIONS USE
ONLY, ARE NOT SHOWN ON PLAN FOR
CLARITY. SEE SHEETS E2—ES FOR LOCATIONS.

h ® NEW SERVICE, #2 TRIPLEX, U.N.O.

o ® % NEW SECONDARY, 1/0 TRIPLEX, U.N.O.

w ——— NEW OVERHEAD 1—-PHASE
PRIMARY, #2 ACSR CONDUCTOR

—_— NEW OVERHEAD 3—PHASE
PRIMARY, #2 ACSR CONDUCTOR
e EXISTING OVERHEAD CONDUCTOR

TO REMAIN IN SERVICE

SHEET NOTES:
1. SEE SHEET E1 FOR GENERAL NOTES.

2. COORDINATE SCHEDULED DEMOLITION SHOWN ON SHEETS E2—-ES WITH NEW

DISTRIBUTION CONSTRUCTION.
3. UNLESS NOTED OTHERWISE:

5068

GRAPHIC SCALE

60 120

SCALE IN FEET

EXISTING SERVICE DROPS TO REMAIN (BE RE-USED).

CONSUMER OWNED
SERVICE POLES
AND WIRING

ﬂ'\‘

COORDINATE WITH
HOMEOWNER TO
CLEAR LINE FOR

~ NEW SVC ALIGNMENT.

5068

8 ——
C?r:?q [T s

P~

#2 TRIPLEX

5068
Bs (5

#2 TRIPLEX ~\“.

e ) ST

POLE NOTES:

180 XARM; GUY AND ANCHOR, 30'L.
17: PROVIDE 45/4, FRAME A1A; 10kVA XFMR.

= \%BA&G& EAﬂ_DlN
5 T

COORDINATE
WITH

HOMEOWNER
TO CLEAR TREES
FOR SERVICE.

16: PROVIDE 45/4; FRAME C7—-1R, A7X ON BACKSIDE; JUMPER NEUTRAL WITH #4 STR. CU. ON POLE AND UNDERSIDE OF

17A; PROVIDE 40/4; INSTALL SECONDARIES AT 9” AND 13" FROM POLE TOP; (2) GUYS AND ANCHORS, 25'L.; INSTALL SVC

AT SEC. HEIGHT.

—

NORTH); INSTALL SVC AT SEC. HEIGHT.

17B: PROVIDE 40/4; INSTALL SECONDARIES AT 9” AND 13” FROM POLE TOP; GUY AND ANCHOR, 25'L. (OUT—OF-LINE 3’

OR, 25'L. (OUT—OF—LINE 3’ EAST).

17C: INSTALL SEC. AT 9” FROM TOP; RAISE SVC. TO SAME HEIGHT.

17D: INSTALL SEC. AT 9” FROM POLE TOP; PROVIDE STREET LIGHT; GUY AND ANCH

17E: PROVIDE 40/4; INSTALL SEC. AT 9" FROM TOP; INSTALL SVCS 4" LOWER; GUY AND ANCHOR, 20'L.
18: PROVIDE 45/4, SET POLE 8.5' DEEP; FRAME A1A; 10kVA XFMR; INSTALL SECON

DARY TO SOUTH AT REDUCED TENSION.
SAME HEIGHT.

18A; INSTALL SEC. AT 9" FROM POLE TOP, AT REDUCED TENSION; RAISE SVCS. TO
19; PROVIDE 45/4; FRAME A2, A9—1; 10kVA; STREETLIGHT; GUY AND ANCHOR, 25'L.. INSTALL BISECTOR GUY 3' EAST OF
BISECTOR ANGLE.

19A; PROVIDE 40/4; INSTALL SEC. AND SVCS. AT 9" FROM POLE TOP; GUY AND ANCHOR, 20'L.

19—1; PROVIDE 45/4; FRAME AIA,

19-2; PROVIDE 45/4, FRAME A1A; 10kVA XFMR; GUY AND ANCHOR, 2Q'L.

19—2A: INSTALL SECS. AT 9" FROM TOP.

19-28: INSTALL SEC. AND SVC. AT 9" FROM TOP.

19—-2C: PROVIDE 40/5 (RE—USE A RETIRED POLE); INSTALL SEC. AND SVC. AT 9" FROM TOP.

19—1N: PROVIDE 45/4, FRAME A1A.

19-2N; PROVIDE 45/4, FRAME A5; 10kVA XFMR.; GUY AND ANCHOR 30'L.

20: PROVIDE 45/4, FRAME A1A.

21: PROVIDE 45/4, FRAME A1A; PROVIDE GUY AND ANCHOR 25'L.

22: PROVIDE 45/4, FRAME A5; 10kVA XFMR; STREETLIGHT; SPAN GUY TO POLE 23.

22A: PROVIDE 40/4, INSTALL SECONDARY AT 52” FROM POLE TOP, GUY AND ANCHOR 25'L.

22B: PROVIDE 40/4 INSTALL SECONDARY AT 52" FROM POLE TOP.

22C; PROVIDE 40/4 INSTALL SECONDARY AND SERVICE AT 66" FROM POLE TOP, GUY AND ANCHOR; 30'L.

22D; PROVIDE 40/5 (RE—USE A RETIRED POLE); SET POLE 8.5’ DEEP; INSTALL SEC. AND SVC. AT 9" FROM TOP.
22E: PROVIDE 40/5 (RE-USE A RETIRED POLE); INSTALL SEC. AND SVCS. AT 9" FROM TOP.

22F; PROVIDE 40/4, INSTALL SPAN GUY AT 9" FROM POLE TOP; INSTALL SECONDARY AT 66" FROM POLE TOP, (2) GUYS

AND AN ANCHOR 30'L.

ISSUED FOR CONSTRUCTION

e
%
> I
C
f‘éo U)§
Jg D_En <L>,,
Jm
gEo<gne
g5ouis s U
B35
€
e i
a .9<(g§»
o= ELlG 8%
=50 g
58203k A
ZEO0 £ D&%
nsg <528 B,
oW o 2 omm
Q- CJ ‘4
o2 *
ag x

ENGINEERING
3040 ARCTIC BULVD. S0

AKIAK, ALASKA
RURAL POWER SYSTEM UPGRADE
ENLARGED ELECTRICAL DISTRIBUTION PLAN
AREA C

DATE
4-20-12
2-18-15

BY

REVISION
ISSUED FOR CONSTRUCTION—REV1

0 |ISSUED FOR CONSTRUCTION

1

NO.

2/18/15
Designed__ GME
MME

Fiot

Date
Brawn
Approved

Sheet No.

M
o0

SHEET. S | S—




sie: \\A—PC\Users\Public\G.ERRICO SHARED\crw'\Akiok—CRW\IFC\Akiok (FC-10.dwg

@ *—® NEw SERVICE, #2 TRIPLEX, U.N.O. *NOTE: POLES DECOMMISSIONED FROM SHEET NOTES:
ELECTRICAL, FOR TELECOMMUNICATIONS USE 1. SEE SHEET E1 FOR GENERAL NOTES.

N STREET LIGHT ONLY, ARE NOT SHOWN ON PLAN FOR 2. COORDINATE SCHEDULED DEMOLITION SHOWN ON SHEETS E2—E5 WITH NEW
e Y NEW SECONDARY, 1/0 TRIPLEX, U.N.O, CLARITY. SEE SHEETS E2-ES5 FOR LOCATIONS. DISTRIBUTION CONSTRUCTION.

» ——— NEW OVERHEAD 1-PHASE W W 3. UNLESS NOTED OTHERWISE: EXISTING SERVICE DROPS TO REMAIN (BE
PRIMARY, #2 ACSR CONDUCTOR pQL=C NEW POLE RE-USED).

——w ——— NEW OVERHEAD 3—PHASE Wo-

AIDEA /AEA
Rural Energy Group
813 Weal Northern Lignts Hive

Anchoroge, Aloske 98503
’—
-—

. pOLE 0 EXISTING POLE
EXISTING OVERHEAD CONDUCTOR WO.  TO REMAIN

TO REMAIN IN SERVICE

State of Aloska
Deportment of Community
and Economic Developmerit

PRIMARY, #2 ACSR CONDUCTOR NSt .' .

[ N Z
\—SPAN GuY %, oy id

90—
B2 L 2:

\ ary v ’"ﬁ
OVIDE INTERMEDIA Q_,- —t

ST ON LOAD"\CEN 7?{7: = i

Sz

11:  PROVIDE 45/4; FRAME CTAR; 7\5“‘\ -
10kVA XFMR; GUY AND ANCHOR, 25~
11A: PROVIDE 40/4; INSTALL SEC. AT @"

FROM POLE TOP; SVCS 4" LOWER; GUY AND ANCH:-25'L. %};

—

PHONE; £307) 583
FAX: (907) 581-2273

3840 ARCTIC BLVD SUITE 320

ANCHORAGE, ALASKA 14!

11B: RE—USED 40/5 OR LARGER; SEC. & SVC. 8
AT 9" FROM POLE TOP;

-

ENGINEERING GROUR

[C RWwW

5T TO PROVIDE SVC. | €2,
T ) i
| ey \j"\ I

EARANCE ivz ROAD.? | }
#2 TRIPLEX/"

11C;  PROVIDE 40/4; BACKSPAN SEC. AT 9" FROM L
POLE TOP; 2ND SEC. AND SVC 4" LOWER; BISECTOR GUY AND ANC., 25L.
11D: INSTALL SEC. AT 9" FROM POLE TOP; RAISE SVCS. TO SAME HEIGHT
OR 4" LOWER; PROVIDE GUY AND ANCHOR, 20'L.

12: PROVIDE 45/4; FRAME C1AR; 10kVA XFMR; STREETLIGHT; GUY AND ANCHOR, 25'L.
12A; PROVIDE 40/4; INSTALL SEC. AND SVC. AT 9" FROM POLE TOP; GUY AND ANCHOR, 25'L.;
INSTALL ANCHOR 3’ OUT—-OF—LINE SOUTH.

12B: PROVIDE 40/4; GUY AND ANCHOR, 25'L.; INSTALL SEC. AT 9" FROM TOP; INSTALL SVC 4" LOWER. =
PROVIDE 40/4; PROVIDE GUY AND ANCHOR, 25'L.; INSTALL SEC. 9" FROM TOP; INSTALL SVCS 4" LOWER. L 2

13; FRAME C7—1R, C9—1; 10kVA XFMR; STREETLIGHT; (2) GUYS, WITH GUY STRAIN INSULATOR, AND ANCHORS, 35' & 30'L. e — e
13A; INSTALL SEC. 9” FROM POLE TOP; RAISE SERVICES TO SAME HEIGHT; INSTALL NEW GUY TO EXISTING ANCHOR. E— N W2 TRIPLEX N—span 6uY Lo grp\

138; INSTALL SEC. AND SVC. 9" FROM POLE TOP. %24{5@ o © ROW '
13-1: PROVIDE 45/4; FRAME C7—1R, A7X ON BACKSIDE; JUMPER NEUTRAL WITH #4 STR. CU. ON POLE AND UNDERSIDE OF XARM; e EDGE.
10kVA XFMR.; GUY AND ANCHOR 25' L.; SPAN GUY TO POLE 13-2. INSTALL SPAN GUY AT 9" BELOW XARMS; INSTALL DOWN GUY 7" LOWER. N 7
13-1A: INSTALL SECONDARY 9" BELOW POLE TOP, RAISE SVC. TO SAME HEIGHT. =
PROVIDE 45/4;, FRAME A9; 10kVA XFMR; PRIMARY SPAN GUY TO POLE 13-2A; SECONDARY SPAN GUYS TO POLES 13-1 & 13—3; PROVIDE STREETLIGHT.
PROVIDE 40/4; GUY AND ANCHOR, 25'L. INSTALL SPAN AND DOWN GUYS AT 9" FROM POLE TOP; INSTALL SEC 9" LOWER; INSTALL SVC 4" BELOW SEC.
B: RE-USED 40/5 OR LARGER; INSTALL SEC. AND SERVICE AT 9" FROM POLE TOP.

PROVIDE 45/4; FRAME A2. INSTALL SECONDARY SPAN GUY TO POLE 13-3A.

- PROVIDE 40/4; GUY AND ANCHOR, 25'L. INSTALL SPAN GUY AND DOWN GUY AT 9” FROM POLE TOP
3-4: PROVIDE 45/4; FRAME A1A; 15kVA.

7

2 TRIPLEX | ®

— #2 TRIPLEX } 4O,
o .

= —— -

i ==

. i
= |

32

3

SEE SHEE

AKIAK, ALASKA

_._.

C
1|1

N

RURAL POWER SYSTEM UPGRADE

—

S

;

ENLARGED ELECTRICAL DISTRIBUTION PLAN
AREA D

>

‘_.

—
S

—5: PROVIDE 45/4;, FRAME A5; GUY AND ANCHOR, 25'L.

—6: INSTALL SEC. AT 9" FROM POLE TOP; RAISE SVCS. TO SAME HEIGHT.
3—7: PROVIDE 40/4; INSTALL SEC. AT 8” FROM POLE TOP; RAISE SVCS. TO SAME HEIGHT; GUY AND ANCHOR 25'L.
4; PROVIDE 45/4, FRAME C1AR; 10kVA XFMR.

A: INSTALL SEC. AT 9" FROM POLE TOP; RAISE SVC. TO SAME HEIGHT.

—

—
[~

— =

DATE
4—20-12
2—-18-15

—

5: PROVIDE 45/4; FRAME C10 (ALLEY ARM), C9—1; 10kVA; STREETLIGHT.
A; RE—USED 40/5 OR LARGER; INSTALL SEC. AND SERVICE AT 9" FROM POLE TOP.

BY

2!

120,/208
Be L5 Bs 1> 120/240

Cry

#2 TRIPLEX ¢
RS
'y

“_‘ /f(#z TRIFLE!

15—1: PROVIDE 45/4; FRAME C7—1R WITH A7X ON BACKSIDE JUMPER NEUTRAL WITH #4 STR. CU. ON POLE AND UNDERSIDE OF XARM;
10-15—10 XFMR BANK, 120/208, 120/240.

GUY AND ANCHOR, 30'L.; RE—UTILIZE SECONDARY QUADRAPLEX. |
15—1A: RE—USED 40/5 OR LARGER; INSTALLED ADJACENT TO BUILDING; INSTALL SECONDARY AND SVC. AT 9" FROM POLE TOP.

—1B8; INSTALL SEC. & SVC. AT 8" FROM POLE TOP; PROVIDE GUY AND ANCHOR 20’ L. |
15—2: PROVIDE 45/4; FRAME A2; 10kVA XFMR; GUYS AND ANCHOR, 25'L. |
15—2A; INSTALL EAST/WEST SEC. AT 9" FROM POLE TOP; SOUTH SEC. 4" LOWER; BISECTOR GUY AND ANCHOR, 20'L.
15-2B: PROVIDE 40/4; INSTALL SEC. AND SVC. AT 9" FROM POLE TOP; GUY AND ANCHOR, 20'L. INSTALL ANCHOR 3" NORTH OF IN-LINE. [
5—-2C: RE-USED 40/5 OR LARGER; SET 8.5' DEEP INSTALL SEC. AND SVC. AT 9" FROM POLE TOP.
15=3: 45/4; FRAME A5; 10kVA XFMR; GUY AND ANCHOR, 30'L. |
15—3A: INSTALL SEC AT 9" FROM POLE TOP; RAISE SVC. TO SAME HEIGHT. |

|
|

:

REVISION

|
ISSUED FOR CONSTRUCTION

—

15-N1: PROVIDE 45/4; FRAME C7—1R, A7X ON BACKSIDE; JUMPER NEUTRAL WITH #4 STR. CU. ON POLE AND UNDERSIDE OF XARM; /’7
GUY AND ANCHOR, 35'L. =
15=N2: PROVIDE 45/4, FRAME A2, A5—1, GUY AND ANCHOR, 30'L.

ISSUED FOR CONSTRUCTION—REV 1

©
L
15=N2—1: PROVIDE 45/4; SET POLE 8.5' DEEP; FRAME A5; 10kVA XFMR; GUY AND ANCHOR, 30'L. —
15-N2—-1A; RE-USED 40/5 OR LARGER; INSTALL SEC. & SVC. AT 9” FROM POLE TOP. H

15-N3: PROVIDE 45/4; FRAME A1A; 10kVA XFMR. o

|
|
I
i/
SEE SHEET E7
NO
o]
1

/

15=N4: PROVIDE 45/4; 10kVA; GUY ANCHOR, 25'L. g | #2 TRIPLEX—
15-N4A: PROVIDE 40/4; GUY ANCHOR, 25'L. INSTALL SEC. AT 9" FROM POLE TOP; INSTALL SVC. 4" LOWER. ~J |
15-N5: PROVIDE 45/4; FRAME A1A; 15kVA XFMR. SECONDARY SPAN GUY TO POLE 15-N6; PROVIDE GUY AND ANCHOR, 25'L. —’ Wll Q
[ i
—! 6\/\ LI

15-N3A: RAISE SEC. AND SVC. TO 9" FROM POLE TOP. wMT\’“ET.‘?"'__(\LF

MME

2/18/15

7
15=N5A: INSTALL SECONDARY AT 9" FROM POLE TOP; EXTEND RISER 3'; PROVIDE NEW GUY TO EXISTING ANCHOR.

Designed. GME
Drawn.
Approved

. Z

'y 5058 5068 N >

i 1| 3 LB,&‘%H 86 11 /e
15—N5B: INSTALL SECONDARY AT 9" FROM POLE TOP; PROVIDE GUY AND ANCHOR, 25'L. g L ? L 1A /04 P\
15-N6: PROVIDE 45/4; FRAME A1A. GRAPHIC SCALE SEE SHEET E7 o ~ },!i Lo pﬂ\ \

15-N8 PROVIDE 45/4; 10kVA; GUY AND ANCHOR, 30'L. SCALE IN FEET \E9/ scALE: GRAPHIC S =

15-N7: PROVIDE 45/4; FRAME A2; 10KVA XFMR; STREETLIGHT; PRIMARY SPAN GUY, (2) SECONDARY GUYS AND ANCHORS, 25'L. 0 60 120 180 0 wet No.
e SVCS.; RAISE SVCS TO NEW SEC. HEIGHT; INSTALL Gk HIGHER; GUY AND ANCHOR, 25'. |l (1 ENLARGED ELECTRICAL DISTRIBUTION PLAN—AREA D |SSUED FOR CONSTRUCTION | [ E9




CONDUCTOR AND
DUCT SCHEDULE

Reference to Designation on Plan
Drawings and Staking Sheets

Description Manufacturer

OH Primary Cable

Single—phase — 1 conductor
Three—phase — 3 conductors

#2 ACSR, Sparate RUS approved

SEE SHEET E1 _FOR GENERAL NOTES AND CONSTRUCTION COORDINATION NOTES.

SEE SHEET E5 FOR DEMOLITION NOTES.

OH Secondary

1/0 TRIPLEX

1/0 AL triplexed secondary RUS approved

ggbl\zervice #2 TRIPLEX #2 AL triplexed secondary RUS approved

#.L;mvefi;ing pin #4 SOLID ALUMINUM #4 AL solid Southwire, or appraved equal
Ground #4 STRANDED COPPER #4 Bare Stranded Copper Southwire, or approved equal
Ground #6 SOLID COPPER #6 Bare Solid Copper Southwire, or approved equal

Covered Primary
Equipment Jumper

#6 SOLID COPPER, COVERED

#6 Cu 110 mil XLP Southwire, or approved equal

Streetlight conductors

#10 COPPER, STRANDED

#10 Cu, 7-strand, XHHW Southwire, or approved equal

UG Secondary 4/0 URD 4/0-2/0—-4/0 AL triplexed secondary, Sweet Briar RUS approved
Cable
ngISerVice #2 URD #2—-#2—-#2 triplexed URD secondary cable, Ramapo RUS approved
able

UG Service Riser

#2 COPPER XHHW

#2 copper XHHW, 800V, single conductor Southwire, or approved equal

Underground
conduit

HDPE2

2" schedule 40 HDPE, red or black with red stripes Duraline, Carlon, or approved equal

EQUIPMENT SCHEDULE

Q<
&

>Z xi’
= 0,

€ ¥ >
oS S&n 5?
JES Lo
ge3 o g of
28< 2 Il

N
% > 52
o .9<(g§_
oEEWW £E
gmgg—Ga*l
~E0 =0 £5
weg<C5=s B,
S u:g omm
g R
of *

x
-
Y,

& :_‘."\#3-’?00;;..
05 i Eﬁ" 0
£37 ~t ReY
i o R Y
i ;S e
a5t wis " ipE
e H

3 w 7 -
o oy
o f&"

i -

" o

73

PHONE: {507) %&2-
{907) 581

AMCHORAGE, ALASKA 0%
FAX:

3340 ARCTIC BLVD. SUITE

TYPE DESCRIPTION COMMENTS
10kY XFMR 120/240/7,200/12,470V SINGLE—PHASE, POLE—MOUNTED, STAINLESS STEEL, AMORPHOUS CORE, DISTRIBUTION
15kV XFMR 16—PHASE POLE—MOUNTED TRANSFORMER (INTERNALLY RE—CONFIGURABLE FOR USE IN 3¢ BANKS).  AUTHORITY
TRANSFORMER FURNISHED, CONTRACTOR INSTALLED.
15kV XFMR 120/240/7,200V SINGLE—PHASE, POLE—MOUNTED, DUAL VOLTAGE, DISTRIBUTION TRANSFORMER. AUTHORITY
AND FURNISHED. FOR TEMPORARY USE BY CONTRACTOR FOR PHASING WORK TO FACILITATE
120/240/2,400V VILLAGE VOLTAGE CONVERSION. AUTHORITY FURNISHED. TO BE RETURNED TO AUTHORITY
19—PHASE AT END OF PROJECT.
DUAL—VOLTAGE
POLE—MOUNTED
TRANSFORMER
150kV XFMR 7,200/12,470V WYE TRANSFORMER BANK, POLE MOUNTED, STEP—DOWN /STEP—UP 7,200/12,470V WYE TO 2,400V
BANK TO 2,400V DELTA DELTA. EXISTING ON POLE 2. TO BE RELOCATED IN VILLAGE, AS REQUIRED, TO FACILITATE
VOLTAGE CONVERSION. TO BE RETURNED TO AUTHORITY AT END OF PROJECT..
PEDESTAL FIBERGLASS PEDESTAL 2—PIECE SECONDARY FIBERGLASS PEDESTAL, NORDIC FIBERGLASS, INC. PSP913306MG,
FACTORY FINISHED MUNSELL GREEN, OR APPROVED EQUAL.
STREETLIGHT LUMINAIRE AND |BEACON VIPER LED LUMINAIRE #VP—S—30NB—70—5K—T2—UNV—PCR—TL—SF2—-GYS, OR
WOOD POLE MOUNTED EQUAL.
S.L. BRACKET ARM
MACLEAN POWER SYSTEMS, MAST ARM, WOOD POLE MOUNTING ARM #S—2-2.5G.

sie: \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC-Details—3.dwg

/ 1\ SCHEDULES
": EC / SCALE: NTS

ISSUED FOR CONSTRUCTION

w
Q
<
S
< 3
> Q
=
<
>
>4 = 3
7] w 7
< = E,
- w ni
< h o=
8 @
4 <
x <
< ;90
4 i
< o 5
a o
)
-
<
[
2
4
0
BT
3|©
|
o
i
[as]
z
(=]
=
3}
g:)
a|E
S|lwn
@z
]
(&)
14
o]
[
[a]
w
=]
0
.
go
2yl w
o| O =
= p=i
o
o~ b 0
o ) 5‘ g g
g 0 ]
Tda & & <
Sheet No. E1O

SHEET




/uh, bv

a
b

5 . ek
i uH/cc!e

"

© ]]

LWJ m, bv
M1 "

|
; POSITION OF
]_IL/ GUY WHEN REQUIRED

2'-6"

il
OSITION OF GUY |
WHEN REQUIRED

|
A

NOTE:

1.

| L sioe

da
I | g/cm ah
ek/ |

THIS ASSEMBLY: USES A 3" SQUARE CURVED WASHERS
(1 REQUIRED ON BACKSIDE OF NEUTRAL BRACKET).

MATERIAL LIST

MATERIAL LIST

NO. | Qty. DESCRIPTION
o] 1 [INSULATOR, PIN TYPE, PORCELAIN, F—NECK
b 1 |PiN, pole top, 207, straight
ah| 1 |TIE, PREFORMED, WRAPLOCK, SINGLE SUPPORT
oh| 1 |TIE, SPOOL, PREFORMED, SINGLE SUPPORT
bv| 2 |ARMOR ROD, SINGLE SUPPORT, SET
[ 2 |BOLT, MACHINE, 5/8"XREQD LENGTH
cm | 1 |INSULATOR, SPCOL, 37, ANSI 53-2
d 3 |WASHER, 2—1/4" SQUARE WITH 11/16  HOLE
ec 1 |BRACKET, OFFSET NEUTRAL
ek | — |LOCKNUT, 5/8", AS REQUIRED
2

SCREW, LAG, 1/2" X 4—-1/2"

Te \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiok—CRW\IFC\Akiak IFC—Details—3.dwg

1\ _AIA FRAMING

\E11/ scaLe: nTS

NO.| Qty. DESCRIPTION

a | 2 | INSULATOR, PIN TYPE, ANSI 55-4

b | 2 | PIN, pole top, 20"

oh| 1 | TIE, PREFORMED, WRAPLOCK, DOUBLE SUPFORT, SIDE TIE
an| 1 | TIE, SPOOL, PREFORMED, SINGLE SUPPORT
byl 1 | ARMOR ROD, DOUBLE SUPPORT, SET

bv| 1 | ARMOR ROD, SINGLE SUPPORT, SET

c | 4 | BOLT, MACHINE, 5/8"XREQ'D LENGTH

cm| 1 | INSULATOR, SPOOL, 3, ANSI 53-2

d 1 | WASHER, CURVED, 3"

d | 2 | WASHER, 2—1/4" SQUARE WITH 11/16  HOLE
da | 1 | CLEVIS, NEUTRAL, RIGID

di | 2 | PIPE SPACER, 3/4" DIA. x 1—-1/2"

sk | — | LOCKNUT, 5/8", AS REQUIRED

2\ A2 FRAMING

\E1 1/ SCALE: NTS

o—d—ek \

Wi
¢ S/
_— \Awq/” b

o=

b
e
PLAN

.

I [ ! OSITION. OF
__L'_]/ZUY WHEN REQUIRED
]

=)

.
i

&-g”

NEUTRAL

POSITION

/o
ALTERNATE - :
NEUTRAL /
‘ e

a

SECTION X-X

State of Aloska
Department of Community
and Eecgonomic Develgpment

AIDEA /AEA
Rural Energy Group
813 West Northern Lights Bivd

J=ALASKA
- NE LY AUTHORITY

*
AIEN

Ancharage, Alaska 99503
- w

*

152

FAX: (807) 56112271

PHONE. (907)

SE40 ARCNC BLVD. RNTE
ANCHORACE ALASKA

NOTE:
1. THIS ASSEMBLY: USES 3" SQUARE CURVED WASHERS (3
REQUIRED).
2. EYE~BOLT TO BE TIGHTENED AGAINST WASHERS ON BOTH
SIDES OF BOLT.
MATERIAL LIST

NO.| Qty. DESCRIPTION

an| 1 | TiE, WRAPLOCK, SPOOL

bo| 1 | SHACKLE, ANCHOR

bv] 2 | ARMOR ROD, SINGLE SUPPORT, SET

c | 1 | BOLT, MACHINE, 5/8 XREQ'D LENGTH

cm | 1| INSULATOR, SPOOL, 3, ANSI 53-2

d 3 | WASHER, SQUARE, CURVED, 3, 11/16 HOLE

da | 1 | CLEVIS, NEUTRAL, RIGID

ek | — | LOCKNUT, 5/8", As REQUIRED

kK | 1 | INSULATOR, SUSP. 15kY EPOXILATOR, 10,000 LBS.
m | 1 | CLAMP, SUSP. ANGLE

o | 1 | BOLT, EYE, 5/8"XREQ'D LENGTH

3\ A3 FRAMING

SU 1/ scae: NS

SHEET NOTES:
1. SEE SHEET E1 FOR GENERAL NOTES.

ISSUED FOR CONSTRUCTION

w
[a]
¢
o
£ 3
s ) st
< =
=)
V4 =z o
g &g
4 n 79
= 5 a=
R v =
X oz <A
< o oo°
p4 2
< e '6
a g
—
o o
<
[
2
x
o
]
<|O|0
oNvI-
H&
~
m
>
w
T
z|lz
o|e
=|E
olo
HHE
aIEIE
Emw
olzlz
Q| Q
o|O
orla
o|o
jre] I
olo
[mv] o]
=] =]
n|ln
nlu
glof~
in
— lil g
w| O
— =
b
2
o
4 o E =
5y & g &
o a &6 <«
Sheat No, E11
SHEET. Ly —




=ie: \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC~Details—3.dwq

NOTE:

1. THIS ASSEMBLY: USES 3" SQUARE CURVED WASHERS (4
REQUIRED).

2, EYE—BOLT TO BE TIGHTENED AGAINST WASHERS ON 80TH

Omdwekl.

g"

k
My i
I | | o
Ll
R OSITION OF
L GUY WHEN REQUIRED

{ ]

|

|

|

[

|

1'=6"

-

SIDES OF BOLT.

OSITION OF
GUY WHEN REQUIRED

NOTE:
1. THIS ASSEMBLY: USES 3" SQUARE CURVED WASHERS (4

REQUIRED).

2. EYE—-BOLT TO BE TIGHTENED AGAINST WASHERS ON BOTH
SIDES OF BOLT.

MATERIAL LIST

MATERIAL LIST

NO,

Qty.

DESCRIPTION

[93¢]

DEADEND SHQE, CURVED, BOLTED, OR AUTOMATIC

as

CLEVIS, NEUTRAL, SWINGING

d

Ny Y

WASHER, SQUARE CURVED, 3", 11/16" HOLE

ek

LOCKNUTS, AS REQUIRED

ke

INSULATOR, SUSFENSION, EPOXILATOR 18kV, 10,000 LBS.

o

sl

BOLT, EYE, 5/8" x AS REQUIRED

crn

INSULATOR, SPOOL, 3", ANSI 53-2

aj

DEADEND, NEUTRAL, PREFORMED

1\ A5 FRAMING
3512/ SCALE: NTS

NOC.| Qty. DESCRIPTION

aj | 1 | DEADEND, NEUTRAL, PREFORMED

as| 1 | CLEVIS, NEUTRAL, SWINGING

ov | — | JUMPERS, TAP PRIMARY CONDUCTOR, AS REQD
ca| 1 | DEADEND SHOE, CURVED, BOLTED: OR AUTOMATIC
cm| 1 | INSULATOR, SPOOL, 3", ANSI 53-2

d | 4 | WASHER, SQUARE, CURVED, 3", 11/16" HOLE

ek| — | LOCKNUTS, AS REQUIRED

k 1 | INSULATOR, SUSP.. EPOXILATOR 15kV, 10,000 LBS
[o} 2 | BOLT, EYE, 5/8" x AS REQUIRED

p 4 | CONNECTORS, COMPRESSION

2\ A5—1 FRAMING

E12 /) scALE: NTS

o—d—ek "H)

ih
s [
0 :‘%‘] '/p
c—d—ek—— _
‘(ﬂ [ I' d\hc \0 \GG “N\-“ca
if 1]
ol = 1) OSITION OF
] |
J | o GUY WHEN REQUIRED
I
o
I l | av
o—d—el LN G Nem !
R
1
i
aE
|l
L
{11
ik
Ll o
NOTE:
1. THIS ASSEMBLY: USES 3" SQUARE CURVED WASHERS (4
REQUIRED).

2. EYE-BOLT TO BE TIGHTENED AGAINST WASHERS ON BOTH
SIDES OF BOLT.

MATERIAL LIST

NO.| Qty. DESCRIPTION

aal 1 | NUT, EYE, 5/8"

ai | 1 | DEADEND, NEUTRAL, PREFORMED

os| 1 | CLEVIS, NEUTRAL, SWINGING

av | — | JUMPERS, TAP PRIMARY CONDUCTOR, AS REQD
bol 1 | SHACKLE, ANCHOR

cal 1 | DEADEND SHOE, CURVED, BOLTED; OR AUTOMATIC
c¢m| 1 | INSULATOR, SPOCL, 3, ANSI 53-2

d | 4 | WASHER, SQUARE, CURVED, 37, 11/16" HOLE

ek| — | LOCKNUTS, AS REQUIRED

kK | 1 | INSULATOR, SUSP., EPOXILATOR 15kV, 10,000 LBS
o | 7 | BOLT, EYE, 5/8° x AS REQUIRED

0 1 | BOLT, EYE, 5/8" x 18"

n | 4 | CONNECTORS, COMPRESSION

3\ _A5—2 FRAMING

E12/ scalE: NTS

SHEET NOTES:
1. SEE SHEET E1 FOR GENERAL NOTES.

ISSUED FOR CONSTRUCTION

gz

T

[*]
>+ xI
B0
Jg_ a2 <

J@m

2Eo«3lg
wEo s 28 G
g0 > 5
FOING i
o5, P58
o°.9<g§:
w;gu_l._uzg
‘SOCD—‘J'O'*A
HES £ 24t
Qe uops [«
o & 27 omm
Qi
02 «‘*
[a%s; *

8
Ay
o
a:a%
PELE
ai5s
2gS8
o d
%8z
g2
i3
2
"
=)
<
S
L 3
=2 E
< 2
X = B
0 E o
35 n 79
< 5 B
R » =
X A
o <
< ; s°
< 4
< o) 5
[ PR
)
- [T}
<
o
=
x
o
- =
Eldl
B‘Ni?
+ &
=
fas]
)
>
Ld
4
|
z|z
oS|G
= 1=
olo
gDD
gIEE
Zlnln
alzlz
Z|5|0
O|o
x|
o|S
e vt
ala
W
=11=
n|n
wuln
g|o|~
v wl
[} =
2 s
ol 3 §
g‘ < o
<& % & a
9a 0 ut a
a o a a <
Sheet No. E12

SHEET _____OF



sie: \\A-PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC~Details—3.dwg

¢

- X8
=c (/)E
.Eg <2

2
oES o 3m3
SEo<Ca ,,a =k
€ C Lo <z
gogmof,m il
RS
<0 g
N ES L
S 252
o .9<(g§_

6
w‘EgLLJLqu\
e
EE%QB?.E*A
wto<53§ *
8“-1 Qg% .-;
o2 B
Qg L]

GUY
i 38" u i £
i st 7 g & 4-0 [ 8 T 4~ | 3-8 4
1 1
T - = T ; e o | |7 ee e AR = 1
e ey ot S AT - o fG [} \ = | ¢ \ = : - :
- Lt it — - — - - S R [ —— g —— —-—-—@—_C. R oS ¥
e 4 d-o” o TS X VT 2 { N
B S v e s POSITION POSITION X | S——cu ¥ A
d 3
- \;\9 j—— /’ —em OF UPPER GUY OF UPPER GUY
aa—ek N
K ao—sak e o | | ! : \
i e PEA LA PEAS !
“ 3T oy =rel | I | \
| g : g i
| i v | v 44
| i | | | / | | Of i
| l PLAN r : [ NEUTRAL-—-\E . < ege”
PLAN ' ' z
i ¥-6" | | . i
‘ /k ' d—ek n—d—ek /ﬂ_f |
o] T [ S s 1 A | g
;_@k_@‘_’%t_f ____ 7@'_\” b — = = ——————1oX et D)— A a-f %
! i 1 : S
POSIT N\ | ’ | o A = i g 3
10N i ! P e — S e 1 |\ E@, e e semie o i < Ly
OF UPPER GUY N | | | < X | ——— = <5 5 @ 2
ML~ | 1] Tn-d-e | /' ek 3 b &y
| | | i | | % ‘oh c—d ah < a i
' | Armor Rod—-________ Armer Rod—_ | = 2 =
| [ I | | | i < & 3°
[ 1] ‘ | | ¥ =z ¢
| L3 | | g
il T \ | i i 2
| | | ™
| | PLAN PLAN z
MATERIAL LIST MATERIAL LIST
MATERIAL LIST MATERIAL LIST lem| NO. DESCRIPTION ltern| NO. DESCRIPTION w '?'lQ,
ltem| NO. DESCRIPTION m NG a | 4 | INSULATOR, PIN TYPE, ANSI 55-4 a | 2 | INSULATOR, PIN TYPE, ANSI 55—4 z[gl
aa | 2 | NUT, EYE, 5/8" amj NO. —DESCRIPTION oh | 2 | PREFORMED WRAPLOCK TIE, DOUBLE SIDE SUPPORT oh | 2 | PREFORMED WRAPLOCK TIE AN
ca| 1 | DEADEND SHOE, CURVED, BOLTED, OR AUTOMATIC aa | 2 | NUT, EYE, 5/8 2 | ARMOR ROD, DOUBLE SUPPORT, SET 2 | ARMOR ROD, SINGLE SUPPORT, SET = HN
cc| 1 | DEADEND, NEUTRAL PREFORMED ca | 1 | DEADEND SHOE, CURVED, BOLTED, OR AUTOMATIC cu | 4 | BRACE, WOOD, 28" cu | 2 | BRACE, WoOD, 28" &
cu | 4 | BRACE, WOOD, 28" cc | 1 | DEADEND, NEUTRAL, PREFORMED d | 10| WASHER, 2—1/4" SQUARE, 11/16  HOLE d | 2 | WASHER, 2-1/4" SQUARE, 11/16 HOLE -
d | 10] WASHER, 2—-1/4" SQUARE, 11/16" HOLE cm| 1 | INSULATCR, SPOOL, 3°, ANSi 53-2 ee| 4 |LETIERS, 2 "C, 2 '"N" WITH 1" NAILS ee| 4 | LETTERS, 2 "C", 2 "N” WITH 1° NAILS o
ek | — | LOCKNUTS, AS REQUIRED da | 1 | CLEVIS, NEUTRAL, SWINGING ek | — | LOCKNUTS, AS REQUIRED ek | — | LOCKNUTS, AS REQUIRED u
g | 3 | CROSSARM, 3-5/8" X 4-5/8" X 8-0", TYPE 03 ek | — | LOCKNUTS, AS REQUIRED f | 4 |PIN, CROSSARM, STEEL, 5/8 x 10—3/4" f | 2 | PIN, CROSSARM, STEEL, 5/8" X 10-3/4" |
4 | BOLT, CARRIAGE, 3/8 X 4—3/2 K 1 | INSULATOR, SUSP, 15 kV EPOXILATOR, 10,000 ib g | 2 | CROSSARM, 3-5/8" X 4-5/8" X 8'-0", TYPE 03 q 1 | CROSSARM, 3-5/B" X 4-5/8" X & -0", TYPE 03 3|3
2 | SCREW, LAG, 1/2" X 4—1/2 i 4 | BOLT, CARRIAGE, 3/8X4—1/2" i 2 | BOLT, CARRIAGE, 3/8"X4—1/2" b
k 2 | INSULATOR, SUSP., 13 &V EFPOXILATOR, 10,000 lbs i 7 | SCREW, LAG, 1/2"%4" i 1 | SCREW, LAG, 1/27X4" =1 =
n_| 3 | BOLT, DOUBLE ARMING, 5/8" X REQ'D LENGTH n | 3 | BOLT, DOUBLE ARMING, 5/8° X REQD LENGTH c | 1 | BOLT, MACHINE, 5/8" X REQ'D LENGTH % ﬁﬁ
£(3|5
[ 1 &
x|
(o] (o]
[ i
2|8
212
(109
alu
glof-
=2
. ] = 91
[\ _A7-1 FRAMING (2 A7X FRAMING 3\ A9 FRAMING 4\ A9—1 FRAMING 2 3| 2
E13/ scate: NTS \E13/ scae: nts E13/ scate: nTS E13)/ scale: NTS N 3
e a &5 <
SHEET NOTES:
1. SEE SHEET E1 FOR GENERAL NOTES. Sheal: No. £13
ISSUED FOR CONSTRUCTION
SHEET. e




! 5' | | 5! I
! a-b !
# \ !/'ﬁ?:umAL ‘i
F— —e—-—-—/-z’f-—}——-—&—-—~
d—=ek | | uh/.

|
PLAN

S

NOTE:
1. THIS ASSEMBLY: USES A 3" SQUARE CURVED WASHERS
{1 REQUIRED ON BACKSIDE OF NEUTRAL BRACKET).

f
8" 4'—6" | 4'—-8" 6'
n—d—ek\l‘“GUY
——e— e — e — .- _E_. _____ — —— - —— - —_
B = e —————— S} —
—(—I—)— d—ek<
e —=r——— = e SE
as—"" \n-d—ek\\q \c—d
k
g
/d-ek
d
o}
| | z‘*//c?'r?
PLAN o
I

/

POSITION

QF UPPER\G}>

c—ek [ |
[ '
POSITION

| |
X [ ! X
[;m:\o—d—as—cm—cc—ek
OF NEUTRAL—/ [ l |
NOTE:

1. THIS ASSEMBLY: USES 37 SQUARE CURVED WASHERS (2
REQUIRED, ONE ON EACH SIOE OF NEUTRAL EYE-BOLT).

2. EYEBOLT TO BE TIGHTENED AGAINST WASHER ON BOTH SIDES OF
BOLT.

MATERIAL LIST

MATERIAL LiST

MATERIAL LIST

ste: \\A-PC\Users\Public\G.ERRICO SHARED\crw\Akiok—CRW\IFC\Akiak IFC—Details~3.dwg

NO.| Qty. DESCRIPTION NO.| Qty. i DESCRIPTION item| NO. DESCRIPTION
a | 3 | INSULATOR, PIN TYPE, ANSI 55—4 g | 6 [INSULATOR, PIN TYPE, ANSI 55-4 aa| 3 | NUT, EYE, 5/8°
oh| 3 | TIE, WRAPLOCK, PREFORMED, SINGLE SUPPORT ah| "3 TiE, WRAPLOCK, PREFORMED, DOUBLE SUPPORT, SIDE TIE e |4 [ BOLT MAGHINE 172" X 6"
ah| 1 | TIE, PREFORMED, SPOOL, SINGLE SUPPORT ah| _1_|TIE, PREFORMED, SPOOL, SINGLE SUPPORT e T 1 TBOLT MAGHINE 578" X REQ'D LENGTH
b | 1 | PIN, POLE TOP, 20", STRAIGHT b | 2 | PIN, POLE TOP, 20", STRAIGHT s = !
c | 4 | BOLT, MACHINE, 5/8" X REQ'D LENGIH < |75 | BOLT, MACHINE, 5/8 X REQ'D LENGTH caj 3 | DEADEND, CURVED, BOLTED OR AUTOMATIC
c | 2 | BOLT, MACHINE, 1/2" X 6" c | 4 |BOLT, MACHINE, 1/2" X & cc| 1 | DEADEND, NEUTRAL, PREFORMED
cm| t | INSULATOR, SPOOL, 3", ANSI 53-2 cm| 1 | INSULATOR, SPOOL, 3", ANSI 53-2 cm| 1 | INSULATOR, SPOOL, 3, ANSI 53~2
cu | 1 | BRACE, WOOD, 60" SPAN (PAIR) cu | 2 | BRAGE, WOOD, 60" SPAN (PAR) cu | 2 | BRACE, WOOD, 60" SPAN {PAIR)
d | Z |WASHER, 1-3/8" ROUND, 9/16" HOLE d | 12 | WASHER, 2—1/4° SQUARE, 11/16" HOLE d | 10| WASHER, 2~1/4" SQUARE, 11/18" HOLE
d | 6 | WASHER, 2—1/4" SQUARE, 11/16° HOLE d |4 |WASHER, 1-3/8" ROUND, 9/16” HOLE d | 4 | WASHER, 1-3/8" ROUND, 9/16" HOLE
ec | 1 | BRACKET, OFFSET NEUTRAL d_| 1 [WASHER, 3" SQUARE CURVED WITH 13/16" HOLE d | 2 |WASHER, 3" SQUARE, CURVED, 11/16° HOLE
ek | 2 | LOCKNUT 1/2 s da] 1 CLEVIS, NEUTRAL, EIGID = da| 1 | CLEVIS, NEUTRAL, SWINGING
ek = | LOCKNUT, 5/8 . AS REQ'D dl 2 PIPE SPACER, 3/4 Dla, x 1—1_/2 ek — LOCKNUTS, AS REQUIRED
T | 2 | PIN, CROSSARM, SIEEL. 5/8" X _10-3/4" ek | 4 | LOCKNUT 1/2" o | 3 [CROSSARM 3—3/4" X 4—3/4° X 10—0". TYPE 05
g | 1 | CROSSARM, 3—3/4" X 4—3/4 X 10-0", TYPE 05 sk | — | LOCKNUT, 5/8", AS REQD ” NSULATOR—SUSP 75 1 FPOXILATOR. T5.000-
i | 2 | SCREW, LAG, 1/2" X 4-1/2" f | 4 | PIN, CROSGARM, SIEEL, 5/8" x 10—3/4" 3 1 2 - LA NRE
— | # | ARMOR ROD, SINGLE SUPPORT, SET g 7 | CROSSARM. 3-3/74° X 4—-3/4" X 10-0" TYPE 05 n 3 | BOLT, BOUBLE ;?:RM!NQ‘ ?[8 X REQ'D LENGTH
n | 3 | BOLT, DOUBLE ARMING, s?ﬁ: X REQUIRED LENGTH o | 1 |BOLT, EVE, 5/8" X REQD LENGTH
— | 3 | ARMOR ROD, DOUBLE SUPPORT, SET
— | 1 _| ARMOR_ROD, SINGLE SUPPORT, SET

C1AR
SCALE: NTS

C2R
SCALE: NTS

C7—-1R
SCALE: NTS

SHEET NOTES:
1. SEE SHEET E1 FOR GENERAL NOTES.

%

2'_g" 1'-g"

n—d-ek GUY
Y
.

i)

N
|
N

POSITION

OF GUY

WHEN REQUIRED
c—ek

MATERIAL LIST

ltemn

DESCRIPTION

aa

NUT, £YE, 5/8

BOLT, MACHINE, 5/8° X REQD LENGTH

BOLT, MACHINE, 1/2” X REQ'D LENGTH

<a

il

DEADEND, CURVED, BOLTED, OR AUTOMATIC

cC

DEADEND, NEUTRAL PREFORMED

cm

INSULATOR, SPOOL, 37, ANS! 53—2

cu

BRACE, WOOD, 60" SPAN (PAIR)

N %Y

WASHER, 2—1/4" SQUARE, 11/16" HOLE

WASHER, ROUND, 1-3/8" DIA., 9/16" HOLE

da

CLEVIS, NEUTRAL, SWINGING

ek

LOCKNUT, 5/8" AS REQD

ek

LOCKNUT, 1/2” AS REQ'D

CROSSARM, 3—-3/4" x 4-3/4" x 10°=0", TYPE 05X

[, (@] [5] B AT ot B

INSULATOR, SUSF., 15 k¥ EPOXILATOR, 10,000 Ib)

BOLT, DOUBLE ARMING, 5/8" x REQ'D LENGTH

C7-=2A
SCALE: NTS

<k
> ¥§
=2 S
3E g3 G

@
gfediE
GEC LG 59 <
<02 55z 1l
CONDEE &
%5 o 62
o .9{2{,.

Se
et N
2g5=p X
nso <y =g
tu I < *

o &2 ommm
g2 N+
Qg *

ISSUED FOR CONSTRUCTION

"y,
K)
L)
&
ivna
AT
o
SEE
oF
9".
(1]
[=]
<
o
=
S 9
< =
¥ = 3
[’] w =
S b Eog
= L 22
n o <t
N i
X
< Eéo
X [
< o 5
SR
—
2
<
[+ 4
2
[+ 4
N0
wlr]
<« | Q| 00
oN‘I—
+d
>
a
—
>
w
il
Z|Z
5|6
=lE
[S] 6]
%DD
a|ElE
zlele
P4 4
r10|0Q
[S] XS]
oo
[e] fe}
v Il
ala
Wi
2012
0nlun
nion
gO‘—
L wl o,
o =
9 s
el
o~ L o
5 § 2
£ 7 & &
o j a
g8 & & <
Sheet No. E14
SHEET. oF




e \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC-Details—3.dwg

g'-0" 10'-0" 190"
. 47 14" ; 18" 18" 18" , 15" 4 14" &' 47 185" 75 1Y, 1et o 1gt 1t 7.5] 185" a4 4 25" 12", 13" !6"| 6% 13" ;12" 25" 4'
E:;l: | | | | | | " | | | | | [ [ Pl [ | [
HOLE SIZIN WS ST T e e e T %:'l*'*-—"—"-—v-—r» — e — o }- b
I 1
@ 11/16" DiA. "T® © ® ® © ® ol ® ®O ® ® ©® ® NALL HOLES ARE 11/16”, TYR.
7/16" DIA. ) 8'-0o" I : 10'=0" Ly ) 10'-0" )
© /16" DA lg" 23" 19" 19" 23" 6" . len e I T T 336" len n 46" T 6
:.gtl | | | ™ v | ] | ] 1 ! ! 1
e ——————% et — N = 1 (e— s g =
4 ® ® ® @ & @ s 05?(/® @ (.;:\)\AT i @ —I_I _!: A_H' ‘I_I—} ‘H—o_ + H
TYPE 03 TYPE 05/05X (05X AT C7-2A CROSSARM) TYPE 21X (C10 CROSSARM)

/5 M19: CROSSARM DRILLING GUIDE

E15

SCALE: NTS

u (PREFDRMED)—{
Vs

b
"

1

L/—OV

CONNECT TO
NEUTRAL OR
GROUND
WHEN

T PRESENT.

u (PREFORMED)

MAXIMUM 8" AFTER
STRAIN IS APPLIED

NOTES:

1.

FORMED TYPE GRIPS MAY BE USED ONLY WITH SUITABLE

ATTACHMENTS, (ITEM V) RECOMMENDED BY GRiP MANUFACTURER.
2. WHERE SEPARATE ANCHORS ARE iNSTALLED THE MINIMUM

SEPARATION SHALL BE FIVE FEET.
3. SPACING BETWEEN ANCHORS SHALL BE SUFFICIENT TO PROVIDE
MAXIMUM HOLDING POWER OF EACH ANCHOR.

\ \3} Ve

Staple here on!y—ij/

s
N
-
reT= 05
.Eg <3
3
2a _San @
of o r
SES Lo .8 E
fftuisgs L
8L >3z 1l
N
5 752 -
) .‘_J<(g§_
ogE s
LRI y= B
2
heo <52 [,
s n:g ommm
Q-
o2 b )
of§ *

FAX: (997) 561-2273

1\ _C9—1 FRAMING

E15 ./ scaLE: NTS

MATERIAL LIST MATERIAL LIST
NO,| Qty. DESCRIPTION NO.| Gty. DESCRIPTION
a | 4 | INSULATOR, PIN TYPE, ANSI 55—4 a | 8 | INSULATOR, PIN TYPE, ANSI 55-4
ah| 4 | TIE, PREFORMED, WRAPLOCK, SINGLE SUPPORT ac | 2 | BRACE, HUGHES BROS, #1096.6R
c | 2 | BOLT, MACHINE, 5/8" X REQ'D LENGTH ah| 4 | TiE, PREFORMED, WRAPLOCK, DOUBLE SUPPORT, TOP TIE
c | 2 | BOLT, MACHINE, 1/2" X REQ'D LENGTH c | 5 | BOLI, MACHINE, 5/8" X REQD LENGIH
cu | 1 | BRACE, WODD, 60  SPAN (PAIR)
d | 2 | WASHER, 1—3/8" ROUND, S/16" HOLE d | 18| WASHER, 2—1/4" SQUARE, 11/16" HOLE
d | 6 | WASHER, 2—1/4" SQUARE, 11/16" HOLE ee | 4 | LEITERS, 2 EA. 'C, 'N', WITH 1" NALS
ee | 4 | LETIERS, 2 EA. 'C, "N, WITH 1" NAILS ek | — | LOCKNUT, 5/8", AS REQD
ek | 2 | LOCKNUT 1/2° f 8 | PIN, CROSSARM, SIEEL, 5/8 X 13, 8 SHANK
ek | ~ | LOCKNUT, 5/8", AS REQD q | 2 | CROSSARM, 5" X 7" X 10'-0", TYPE 21X
f 4 | PIN, CROSSARM, SIEEL, 5/8° x 10—3/4" — | 8 | ARMOR ROD, DOUBLE SUPPORT, SET
q 1 | CROSSARM, 3-3/4" X 4-—-3/4" X 10'—0", TYPE 05 n 4 | BOLT, DOUBLE ARMING, 5/8 x REQUIRED LENGTH
— | 4 | ARMOR ROD, SINGLE SUPPORT, SET

2\ _C10 FRAMING

E15/ ScALE: NTS

e thnn%chto N&eut;nl E>J
Qngucter an roun wire
MATERIAL LIST when presenl
ltern] QTY DESCRIPTION o

e | 1 | BOLT, MACHINE, 374" X REQD LENGTH : o

d |1 | WASHER, 4" SQUARE, STEEL, 378 THICK, CURVED, 13716 HOLE D e L R S i
ek | 1| LOCKNUTS, 3/4"

i 1 SCREW, LAG 1/2" x 4"

b | — | CONNECTORS, COMPRESSION, AS REQUIRED

U | 7 | DEADEND, PREFORMED, GUY MATERIAL LiST

v | 1 | GUY ATTACHMENT, 20,000 LBS.

L , " Rp— No. [ty DESCRIPTION

- gg;pﬁmyo) 348 _GALVANIZED STEEL STRAND, EHS, A REQD G | 1 | WASHER, 4" SQUARE, CURVED, 378" THICK. WITH 13716" HOLE
ol | = LAD STAPLES, AS REQUIRED O} L MASHER 4 SOUARE, Ve

av | — | JUMPERS, GOUNDING, AS REQUIRED. #6 BARE SOLID_COPPER B B 000 0 A S 7 £ A o o YW o
at i GUY MARKER, 967, 2" DIA. Pl [ NUT, THIMBLE TYPE EVYE, 3/

(YELLOW, ORANGE, OR YELLOW & ORANGE) oo | 1 | BOLT, THIWMBLEYE, 3/4" x REGUIRED LENGTH
ok | 1| CLAMP, ANCHOR ROD, BONDING av | 1 | JUMPERS, GROUNDING, AS REQUIRED, #6 BARE SOLID COPPER
5 | = | CONNECTORS, COMPRESSION, AS REQUIRED
eh | = | LOCKNUTS, 374", A5 REQUIRED

3\ Ef—3
\E15/ scALE: NTS

SHEET NOTES:

(4 E2-3
\E15/ scALE: NTS

ISSUED FOR CONSTRUCTION

1. SEE SHEET E1 FOR GENERAL NOTES.

w
a
<
[+ 4
2 B
:O
=
<<
>
p4 Z2 o
" EE
3 P e
St
X 4
x <
< ;90
X 13
< OB
[ B
=]
g o
<
[+ 4
2
[+ 4
0
wlT
< |0
=] =g
|
o~
=)
a
=
o
=
(&)
gD
>
¢(3
(8]
x
[e]
[re
=
[}
)
7}
4]
gle
ftﬁlu
w| G =
- =
R
4 5 5 B
2% & 2 a
is a4 & <
Sheat No.

E15

SHEET.




e \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC—Details—3.dwg

CABLE TAGGING NOTES:

1. TAG ALL CABLES AT RISERS AND IN PEDESTALS.

2. TAG EVERY CABLE (INCLUDING NEUTRALS) AT RISERS
WITH A YELLOW PLASTIC COATED CLOTH TAGS.

3. ATTACH TAGS AT RISERS 6" ABOVE TOP OF RISER.
PEDESTALS 8" TO 12° BELOW TERMINAL BL.OCK.

AND IN PEDESTALS

ATTACH TAGS IN

4, ALL TAGS SHALL BE SECURELY TAPED TO THE CONDUCTOR WITH 3M

#37 OR #88 VINYL ELECTRICAL TAPE.
5. THE DESTINATION (LOCATION OF OTHER END) OF THE

CIRCUIT SHALL BE

PRINTED LEGIBLY ON EACH TAG WITH A PERMANENT BLACK MARKER.

6. FOR PARALLEL CIRCUITS MARK THE TAGS AS BELOW:
PHASE A: A1, AZ..An
PHASE B: 31, 82...Bn
PHASE C: C1, C2...Cn
NEUTRAL: N1, N2...Nn

AN

SECONDARY. TAG

/ 5\ TAGGING

E18/ scaLE: NT;

9

FTER
APPLIED

MAX.£8"
STRA

MATERIAL LIST

NG| Qty. DESCRIPTION
af | 1 | CUTOUT, NON—LOAD BREAK, W/ FUSE & NEMA BRACKET|
an| 1 | TRANSFORMER
oo | 1 | CLAMP, HOTLINE
ove| — | JUMPER, COVERED, #6 CU XHHW, LENGTH AS REQ'D
av| — | GROUND WIRE, #6 AWG BaCuSol, LENGTH AS REQ'D
bb | 2 | LUG, GROUNDING, TANK
< 2 | BOLT. MACHINE, 3/4” X REQ'D LENGTH
d 2 | WASHER, 2—1/4" SQUARE WITH 13/16° HOLE
ek | 2 | LOCKNUT, 3/4"
fi 1 | STIRRUP, FORGED
[ — | CONNECTOR, COMPRESSION, AS REQUIRED
3 | CONNECTOR BLOCK, TRANSFORMER, 8—PUSITION
zg | 1 | ANIMAL GUARD

MATERIAL LIST
NO.| Qty. DESCRIPTION
NOTES: of | 1 | CUTOUT, NON-LOAD BREAK, W/ FUSE
1. PROJECTION AFTER PRELOADING IS 2" — 4" gnl 1 1TRANSEORMER, (CONVENTIONA.
. PR, COVERED, 5 CU W ENGTH /S FEQD
avc| — : s s )
2. THE ANCHOR ROD, NUTS, AND PLATE sHaLL Bt | &io= R -LOe ol G S g e D
ASTM A1S3. c | 2 | BOLT, MACHINE, 5/8" X REQ'D LENGTH
3. CONTRACTOR SHALL INSTALL ANCHORS IN c | 2 [BOLT MACHINE, 3/¢ X REQD LENGTH
ACCORDANCE WITH MANUFACTURER'S d | 2 [WASHER. 2-1/4, SQUARE. 11715, HOLE
T A d | 2 | WASHER, 2-1/4" SQUARE, 13/16" HOLE
: ek | — | LOCKNUT, AS REQ'D
MATERIAL LIST fa | 3 | CONNECTOR BLOCK, TRANSFORMER, 8—POSITION
fi 1 | STIRRUP, FORGED
uJer DESCRIPTION fn | 1| BRACKET, CUTOUT SUPPORT
%_| ROD, ANCHOR, TWIN EVE, 3/4" x 80 p | — | CONNECTORS, COMPRESSION TYPE, AS REQD
z | ANCHOR, PLATE, 24 SQUARE (400 5Q. IN] zg | 1 | ANIMAL_GUARD

(1) F1-4P

SCALE: NTS

. G105
\E16/ scale: TS

3\ G136
w SCALE: NTS

SHEET NOTES:

1. SEE SHEET E1 FOR GENERAL NOTES.

<
» X8
Sic s
= 5
Dg_ %gm (6
o
ES 308 i
€0 c La <z
OO>L]J(_')§‘M o
=Qu < ., g8 '“
<Ol
- \E‘;_c LY
500 <
0%L <9 £
CELT 8§
Lcs KW =zg
ngg—aiiil
nso<C5=E
5 22t emm”
82 ® N
C
0§ ’a
"’
S

Te
7
&

s

e

2, EE~1078
Yoy, ROFESS\
LT

MATERIAL LIST

NO.

Qty.

DESCRIPTION

af

CUTOUT, NON—~LOAD BREAK

an

TRANSFORMER, CONVENTIONAL

ap

[ (] (€3 (o2

CLAMP, HOT LINE

av

JUMPERS, STRANDED, AS REQ'D

ave

JUMPER, COVERED, #6 CU XHHW, LENGTH AS REQD

GROUND WIRE, #6 AWG BaCuSol, LENGTH AS REQD

BOLT, MACHINE, 3/4" X REQ'D LENGTH

BOLT, MACHINE, B5/8" X REQ'D LENGTH

BRACE, WCOD, 28"

WASHER, 2—1/4" SQUARE, 11/16 HOLE

WASHER, 2—1/4" SQUARE, 13/16  HOLE

BRACKET, TRANSFORMER CLUSTER MOUNT

LOCKNUTS, AS REQ'D

CONNECTOR BLOCKS, TRANSFORMER, 8-POSITION

STIRRUP, FORGED

CROSSARM, 3-5/8" x 4-5/8" X &

BOLT, CARRIAGE, 3/8" x 4—1/2"

SCREW, LAG, 1/2" X 4-1/2"

CONNECTOR, COMPRESSION, AS REQD

LUG, GROUNDING, TANK

pAs|

Gi|oi] | [ == ot | [—=rofroral—Ira] 1]

ANIMAL GUARD

G312
SCALE: NTS

ISSUED FOR CONSTRUCTION

j
a- =
=3
g N
A=
e\
oiif:ﬂ.
£ uZ3
A7
m‘éggﬁ
. £ ogf™
0 8*
-4
w
w
Q
<
&
e 3
=
& >
> = a3
1] E o
3 n K9
< 5 0=
- e =
4 =S
< ; s
4 14
< o 5
a o
|
a
<€
=4
2
[*4
0
wl
(=@
|
o
~
[i1]
=z
Q
=1
O
%D
alE
sl
Bz
ke
Q
o
[@]
w
2
un
4]
2lo
pe wl
(4] =
2 3
o % k4
wn 2 3 g
o5 § 2 @&
aa [~ =] <
Shaet No. E16

SHEET. O e




2 \\A-PC\Users\Public\G.ERRICO SHARED\crw'\Akiak—CRW\IFC\Akiak IFC—Details—3.dwg

LA : STANDARD
Ll | | | SPACING 0 7
T __L\. g8
i ZE%
| 5=
: o %
N2

]
\ALTERNATE POSITION
WHERE SVC OR SEC IN CONFLICT WITH XFMR

J6 /K11, J5, J10/K10 AT PRIMARY POLE

b 1S T TIGH
AGAINST WASHERS ON

=)

N
T SIDES.

o—d (3" square curved)

k—ek—d (3"
un:re cu1('ved) | } | \\p

POLE TOP
£

=

(1Y w
A
FEEY,
/ | I | \q-cm

ek—d |

J5 J10/K10

c~d (3" square
curved)—ek

MINIMIZE DRIP_LOOPS:

FOR HORIZONTAL TRANSITIONS, DRIP
L.OOP CONDUCTORS SHALL NGT EXTEND
MORE THAN 4”7 BELOW LOWER
ATTACHMENT BOLT.

FOR TRANSITIONS TO TRANSFORMER
BUSHINGS, CONDUCTORS SHALL NOT
EXTEND MORE THAN 4" BELOW
ATTACHMENT BOLT.

uz

P

KSE

K16

ADDITIONAL
BOLTED
ATTACHMENTS

JB /K11, 45, J16/K10 AT SECONDARY POLE

MATERIAL LIST

J6 J10
or or
K1t]J5 [K10

z
o

K16 | KSE

DESCRIPTION

BOLT, MACHINE, 5/8° X REQD LENGIH

BOLT, OVALEYE, 5/8° x REQD LENGIH

3

INSULATOR, SPOOL, 3, VICTOR #viZ612, OR EQUAL

WASHER, 2—1/4" SQUARE, 11/16" HOLE

WASHER, 3" SQUARE, CURVED, 11/16" HOLE

1=}
-y

BRACKET, SERVICE MAST, MACLEAN #J0530 OR EQUAL

x
—
-
j—y

LOCKNUTS, 5/8"

=
—

NUT, OVALEYE, 5/87, AS REQ'D

wie|siin|on O(o
S
il

CONNECTORS, COMPRESSION, (3) H~TAP WITH (2) COVERS
OR (2) INSULATED SVC SPLICES AND (1) BARE SVC SPHICE

BOLT, 5/8" DOUBLE UPSET

CLEVIS, RIGID, MACLEAN #J1300, OR EQUAL

CLEVIS, SWINGING, MACLEAN #40322, OR EQUAL

j=R /3R Fn]
-

N

—_
—
—a
.

GRIP, SERVICE, DEAD—END, SIZE AS REQD
FOR #4 TRIPLEX: PREFORMED #SG-4502
FOR #2 TRIPLEX: PREFORMED #SG-4504
FOR 1/0 TRIPLEX: PREFORMED #SG—4506
FOR 4/0 TRIPLEX: PREFORMED #5G-4509

uw i

TiZ, SPOOL
FOR #2 TRIPLEX: PREFORMED #SPL—1354—P
FOR 1/0 TRIPLEX: PREFORMED #SPL—1355-F

(3 J10/K10
EE”/ SCALE: NTS

J6 /K11

SCALE: NTS

CALE: NTS

() K16
2\ J5 \E17/ scaLe: NTS
\ET7/'s

KSE
SCALE: NTS

]

<

| |
vl m

1A
dqek}#.;

NOTE:

1, THIS ASSEMBLY: USES 3" SQUARE CURVED
WASHERS (2 REQUIRED).

2. EYE~BOLT TO BE TIGHTENED AGAINST WASHERS ON
BOTH SIDES OF BOLT.

MATERIAL LIST
NO.| Qty. DESCRIPTION
as| 1 | CLEVIS, NEUTRAL, SWINGING
d | 2 | WASHER, SQUARE CURVED, 3, 11/16" HOLE
ek LOCKNUT
o BOLT, EVE, 5/8 x AS REQUIRED
cm| 1 | INSULATOR, SPOOL, 5, ANSI 53-2
aj | 1 | DEADEND, NEUTRAL, PREFORMED

N6
SCALE: NTS

WHEN REQUIRED

)
ole A |~\
21 E P
L // 1 _ GROUND LEVEL

i
COMPRESSION SPLICE C‘j\_'i-- :

497

min

POLE GROUND

NOTES:

1. POLE GROUND WIRE TO BE LOCATED ON SAME SIDE AS
NEUTRAL CONDUCTOR AND IN QUADRANT OFPOSITE CLIMBING
SPACE AND ON SIDE OF RISER.

2. STAPLES ON GROUND WIRES SHALL BE 2'—0Q" APART.
EXCEPT FOR A DISTANCE OF 8-0" ABOVE GROUND AND 8-0Q"
FROM TOP OF POLE, WHERE THEY SHALL BE 6" APART.

3. GROUND WIRE TG CLEAR ALL HARDWARE BY 2" MINIMUM,
AND SHALL 8E STAPLED TO MAINTAIN THIS POSITION.

MATERIAL LIST

ltem| NO, DESCRIPTION
b Jos reqd | CONNECTOR, COMPRESSION
ai 1 ROD, GROUND, COPPER—CLAD STEEL, 5/8" MIN. X 8

aj 1 GROUND ROD_CLAMP

ai |AS REQ'D | STAPLES, COPPER CLAD

ci IAS REQ'D|GROUND WIRE, #/6 BARE SOLID COPPER

av AS REQ'D|JUMPER, COPPER

(6 M2-11
\E17/ scaLe: NTS

SHEET NOTES

~1

State of Alaska |
Department of Community
and Economic Development

AIDEA /AEA
Rural Energy Group
813 West Northern Lights Blvd

*
BN

Anchorage, Alaske 99503

I-- ALASKA
@ ENERGY AUTHORITY

*

2
MATERIAL LIST
No. |Qty DESCRIPTION
1 | 1 | ELBOW, CONDUIT, RGS, 2", 36" RADIUS
2 | 1| SPLICE, 2" CONDUIT, RIGID TO HDPEL,
DURALINE, SHUR—LOCK ll, COUPLER, 20000123
(9 RSC2LS

E17/ scALE: NTS

— A
P )

Iig
~ |
S
S|

——t—

o5 ==

o |
MAX.
Vi)

vl .
x
It ;
i _]_ ™
l l'a
Y
35 4
%53
iy z
4 2 =
I )
B i
[ .
k)tJJ ®
[ o
Loay ! 4
et It
i |
_ | 5
=TT | ‘ ir?‘f!.r’f:"f [T
T
Loy
J \\ \
A A
N
AN
] \\\\\\

NOTES:

1. DRIP LOOPS SHALL NOT EXTEND BELOW TOP OF RISER.

e
?.b e s
pLITM ety

RW

[

6

ENGINEERING GROUP,

ANCHORAGE, ALASHA

{ear)
FAX: (307) 581-2273

W
Q
<
&
e 3
=
< >
¥ = @
V‘IEE
3 6 59
<« > 5F
.w""
¥ =
<= § 3°
¥ 2
<o'6
a o
-
- w
«
o
2
[+ 4
0
-
el
|
|
[

MATERIAL LIST

. |Qty DESCRIPTION

— | PIPE, PVC, 2" SCHEDULE 40, AS REQUIRED

— | BRACKET, STAND—OFF, 12, AS REQUIRED

— | CLAMP, PIPE, 2’ HDC, AS REQUIRED

PIPE, RGS, 2", 10" LENGTH

CLAMP, 2" GROUNDING

WIRE, #6 BARE STRANDED COPPER, AS REQUIRED

CONNECTOR, C—-CRIMP, AS REQUIRED

CONDUIT, BELL END, 27, PVC

|| o] o| > || =] Z

=t ==

DUCT SEAL

77\ _UM5/2: SECONDARY RISER

BY

REVISION

NO.

t 5/18/15 || OISSUED FOR CONSTRUCTION

E17/ SCALE: NTS

: ISSUED FOR CONSTRUCTION

1. SEE SHEET E1 FOR GENERAL NOTES.

Pio
Dat

GME

Designed,

MME

Drawn,

Approved.

'Shnul No.
SHEET.

E17

OF




sie: \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\JFC\Akiak IFC~Details—3.dwg

a—oh
" B av
/ ‘,,-Jf \/

/‘ —

MATERIAL LIST

DESCRIPTION
NSULATOR, PIN TYPE, ANSI 55-4
PIN, CROSSARM, STEEL, 5/8" x 10-3/4"
TIE WIRE, ALUMINUM, #4, SOLID
JUMPER, PRIMARY CONDUCTOR, AS REQTD

8\ M5—5: CROSSARM PIN

SE' B/ scaLE: NTS

| 7" x 5" ORANGE AND

BLACK WARNING
ADHESIVE VINYL LABEL.
COMPLIANCESIGNS.COM
#AWE—3570-R

T|ZL WARNING

HAZARDOUS

ELp U0 rS R AND LR
WY & LN DR PR OO

u

o

POLE NUMBERS AND LEYTERS, AS REQUIRED.
NUMBERS AND LETTERS SHALL BE 3” HIGH
AND MADE OF CUTOUT ALUMINUM AND
FASTENED TO POLE WITH 1" ALUMINUM OR
GALVANIZED STEEL NAILS. POLE NUMBERS
TO FACE ROAD OR ACCESS TRAIL.

MOUNT QUTSIDE EQUIPMENT ENCLOSURE
ON PAD MOUNTED EQUIPMENT AND
PEDESTALS, NUMBERS AND LETTERS SHALL
BE 3" HIGH SELF—ADHESIVE REFLECTIVE
NUMBERS/LLETTERS. (YELLOW ON BLACK

BACKGROUND.)
1

s | — e
* | @\ 1
| ABEWI J_JW
LS N }
A

E18

7

D
WARNING LABEL

M52—3: NUMBERS AND LABLES

SCALE: NTS

SHEET NOTES:
1. SEE SHEET E1 FOR GENERAL NOTES.

SCLUTION TO CUT-OFF

i APPLY NAPHTHANATE
|

! POLE TOP

MATERIAL LIST

SN, Tt

item

NO,

DESCRIPTION

NAPHTHANATE SOLUTION, AS REQUIRED

MATERIAL LIST

MATERIAL LIST

e\ _M5—20:

E18/ scaLE: NTS

EPOXILATOR, ASSEMBLY

NN
N
=
L]
|

e EX{STING SERVICE RISER

NO.| Qty. DESCRIPTION NO.| Qty. DESCRIPTION
aal 1 | NUT, EYE, 5/8" aal 1 | NUT, EYE, 5/8"
k 1 | INSULATOR, SUSP., 15kV EPOXILATOR, 10,000 LBS bo| 1 | SHACKLE, ANCHOR
ca 1 | DEADEND, CURVED, BOLTED OR AUTOMATIC ek T | LOCKNUT, 5/8"
0 1 | BOLT, EYE, 5/8" x 18"

/10 M5-21: LINK—OUT

E18

SCALE: NTS
—4[-— 3/16" MIN.
T [— PIECE SECONDARY PEDESTAL
. W/ CONNECTOR RIVETS
0 AND RETAINER CLIPS
. AND STANDARD HASP
| w/ 1/2" PADLOCK HOLE
)
w| T I
@< ! ! 1
= =l S N
= "_{ |"—4
[Fa]
£
o

/11 _TOP POLE

SE”-*/ SCALE: NTS

UR2-5 AND UR2C—5:

NOTES:

]
'l
[
[

MATERIAL LIST

DESCRIPTION

PEDESTAL, NOROIC FIBERGLASS PSP—321336-MG
OR_APPROVED EQUAL

8 POSITION, INSULATED CONNECTOR BLOCK

ONE-TIME _LOCK

WARNING LABEL STICKER

E COLD SHRINK SEAL ltemm | Qby.
g Ugu-1] 1
UG CONDUIT
U 3
Uhw 1
Uaz 1

"LETTERS”, "NUMBERS”, 3" HIGH, REFECTIVE YELLOW ON BLACK BACKGROUND

/ 5\ UG—SERVICE RISER TRANSITION

EE”U SCALE: NTS

SECONDARY
ATTACHMENT:

1112 SECONDARY NEUTRAL.

/6 \ UK5: SECONDARY PEDESTAL
§E15/ SCALE: NTS

ROUTE GROUND (GREEN WIRE) THROUGH
GROUNDING CLAMP AND CONNECT TO

w—0ONE EACH ON QPPOSITE
SIDES OF POLE

X

8"

g

|_~—"2z=-CUT FROM EXISTING
RETIRED WOOD POLE. TREAT
CUT END WITH WOOD
PRESERVATIVE TREATMENT
ALLOWED BY WOOD POLE
SPEC.

AL
0/""\

95% COMPACTION
(UR2C-5)

—BURIED CABLE
WARNING TAPE
ABOVE EACH ROW OF

48" MIN. DUCTS

PRIMARY,
SECONDARY
AND
SERVICE

1. DEPTHS SPECIFIED ARE TO FINISHED GRADE.

2. BACKFILLING IS PART OF ALL TRENCHING UNITS. ALL BACKFILL WITHIN 127
OF CABLE OR CONDUIT SHALL BE FREE OF LARGE ROCKS AND FROZEN
MATERIAL WHICH MAY CAUSE DAMAGE TO THE INSTALLED CONDUIT.

UR2C—5: COMPACT BACKFILL IN 6"-8" LIFTS, TO 95% COMPACTION.

LEGEND
STONE FREE BACKFILL, SAND BED NOT REQUIRED

BACKFILL, COMPACTED AT UR2-48C
UNDISTURBED EARTH

7\ UR2-5/UR2C—5: TRENCH DETAIL

EE"S/ SCALE: NTS

x

|
:

2" min.

/)][

to structure

ROOFLINE OR TOP OF POST

7

to struct.

|
%

|

|

i

L

. 4" 8" min.

State of Alaska
Department of Community
and Economic Development

AIDEA /AEA
Rural Energy Group
813 West Northem Lights Blvd

LASKA
NEAGY AUTHORITY

= A
3

*
AT\

o

Anchorage, Alaska 99503

*

3940 ARCTIC BLVD, Sr

ANCHORAGE, ALASKA
PHONE: (907) 562-3252
FAX: (307) 561-2273

Lt
a
<L
&
e 3
2 =
< >
X =z m
z 2
J n 69
< i B=
R Lo =
X e =8
< g s°
¥4 2z @
< o;
- o
—
- w
<
&
=)
=
['e]
el
w
g|®
|
o
=
@
z
o
=
3]
z|D
alE
2|0
G|z
ke
13}
o
o
w
o
[}
2
(%]
4]
glo

2\ M26—5: STREET LIGHT ATTACHMENT

FINISHED GRADE
MATERIAL LIST c)

Itern| NO. DESCRISTION A 5 —Eé})-—-——-ASSEMBLY ATTACHED TO

1 | 1 | LUMINAIRE, LED, AS SCHEDULED, OR_EQUAL i ﬁl\_.c - LOAD CENTER POST OR

Z | 1 | BRACKET, WOOD POLE MOUNTING, AS SCHEDULED, OR EQUAL il P 2 i ) BLOCKING TO BUILDING FACE

3 | 1 | BOLT, MACHINE, 5/8" x REQUIRED LENGIH w + ; {AS REQUIRED FOR EAVE

% |1 | WASHER, 2-1/4" SQUARE, 11/16" HOLE . T FRAMING, BLOCKING NOT

5 | 1 | NUT, LOCK, 5/8° < i INCLUDED (N UNIT)

6 | 2 | SCREW, LAG 172" x & t

A o o T VETERAL LT

5 | = WiRE, #10 CU. 7—STRAND. XHHW, GRELN ftem} NO, e nTON 1 tem] no. DESCRIPTION

11| % | CONNECTOR, H—TAP, COMPRESSION, BLACKBURN f#WR139, OR EQ. x | 1B/ NAILS, 17 ALUMINUM x | 1 | POST CAP, ALUMINUM, 2—-3/8" DIA.

12| 1 | COVER, SECOTI\'JD:\RY o N 1 | BOLLARD, WOQOD, TREATED (REUSED POLE)_ y % | CLAMP, PIPE, 2—HOLE, HOT DIPPED GALVANIZED, 7_[16“ HOLE
13| 0—1] CONNEGTOR, 'C"_CRIMP, COPPER 2 | — | NAPHTHANATE SOLUTICN, AS REQUIRED - | & [SCREW. LAG. GIMLET, 3/8°. 2—1/2", HEX HEAD

/3\ GUARD POST: WOOD POLE BOLLARD

SE?B)' SCALE: NTS

\E18/ scate: nts

4\ INTERMEDIATE MAST
\E18/ scaie: n1s ISSUED FOR CONSTRUCTION

o wl
=
o| O =2
— =
9
o~ b b3
=y c o
Lo g = sl
o%B A 2 a
ac Q o <
Sheet No. E18

SHEET.




s \\A—PC\Users\Public\G.ERRICO SHARED\crw\Akiak—CRW\IFC\Akiak IFC—Details-3.dwg

1\ POLE 3 JUMPERING DETAIL

E19 / scALE: NTS

e e = —i ————————————— NEUTRAL

/3 POLE 13 JUMPERING DETAIL

E19/ scaLE: NTS

R

v i
e e —-————!—— NEUTRAL

/2\ POLE 9 JUMPERING DETAIL

E19/ SCALE: NTS

ALLEY ARMS ABOVE C9-1

—

= = _/|
R e < <
: L: ] @
-
: | '
| i |
S -——'—\3—@—— S S — NEUTRAL

— o —

7

[
|
|
!,
|

|
@

NEUTRAL

4\ POLE 15 JUMPERING DETAIL

E19/ sCALE: NTS

u om

/S

MATERIAL LIST

NQO. DESCRIPTION

INSULATOR, GUY STRAIN, CLEVIS/THIMBLE—EYE, 86", 21,000 LBS,

cm ROLLER, GUY STRAIN, 27

'\"‘“\?'

DEADEND, PREFORMED, GUY

&
- Y8
2% s
gg Q_En <G
Jm
9ES« 353 Jf
dEoLis 28 L
208 L7z 1l
CONDEE &
50 o £<
002 <L U5~
Q,'EELIJL.Jgél
<62 O_ =5
2e6="0 52K
heo<5=8 [,
g 2T emm
oY ® N
c
af x
x
-

7\ _M5—23: GUY STRAIN INSULATOR

E18/ scaLE: NTS

c—-d—ek

i =

MATERIAL LIST

DESCRIPTION
INSULATOR, GUY STRAIN, CLEVIS/THIMBLE—EYE, 86", 21.000 LBS.
POLE EYE PLATE, 20,000 LBS.
BOLT, MACHINE, 3/4" x REQUIRED LENGTH
WASHER, STEEL, 4" SQUARE, CURVED, 13/16  HOLE
LOCKNUT, 3/4~

MNM—“w—*g

78\ M5—23P: GUY STRAIN INSULATOR WITH POLE PLATE

5"319/ SCALE: NTS

AFTER CLEARING
NOTES:
1, REMOVE ALL OF THE TREES, BRUSH, STUMPS, ROOTS AND ALL
OTHER UNDERGROWTH, EITHER DEAD OR ALIVE, FROM THE DESIGNATED
WIDTH OF THE RIGHT~OF—-WAY.
2. ALL TREES AND BRUSH WILL BE NEATLY STACKED ALONG EDGE OF
THE CLEARING 3. THIS IS A 20" WIDE CLEARING UNIT (10" ON EACH
SIDE OF CL).

/3 R2-20: CLEARING

E18 / scaLE: NTS

SHEET NOTES: ISSUED FOR CONSTRUCTION

1. SEE SHEET E1 FOR GENERAL NOTES.

[}
[a]
<
&
e 3
2 =
N >
X =z o
2 2
3 n 59
< & O<
- m =
X « <48
s ;90
X [
« o'a
o o
—
a L
<
o
2
4
n
=1
8|®
!
o
>
a1}
z
o
=
Q
z|S
alE
2o
G|z
3 Ko
o
4
(@]
re
a
w
D)
7]
2,
%O
QLg g
o] 6| =
— p=
ol 3 §
) 5‘ ; g
°% 9 a a
aa o o <
Sheet No. E19

SHEET e OF |



